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1. Consider the following Peshwas and arrange them in [1.  frefaf@d et T

ascending chronological order - HTATHATTEAR A |
l.  Raghunath Rao (Raghoba)

R CIERAC) ()
2. Balaji Baji Rao ; srereft et T
3. Narayan Rao ’
4. Balaji Vishwanath 3. A
Select the correct answer from the codes given 4. mﬁm -
below : ;ﬁ;}ﬁ-qrrqizﬁﬁﬂﬁmﬂﬁq
@) 4,2,3,1 ) 3.4,1,2 (a) 4,2.3,] ®) 3.4 12
© 1,234 A 13,24 © 12,34 @ 13,24
2. Consider the following;sktgaltements with reference to el SR ¥ a= ¥ fpafafad FYAl W fan
early trade : 2. .
1. ::;[:n tza.;:eldric:_:erem:es of numerous river-ports in N gﬁﬁquﬂﬁﬁaﬁ 3 qﬁ_m%ﬁﬁﬁlﬂ%%l
2. There were large entrepots of goods and traffic. 2. @l EHE 3T T ¥ 7 e o |
Which of the above statements isfm @ﬁﬁaﬁmm/& FYTEI /2 ?
(a) Both 1 and?2 (b) Neither 1 nor 2 AR 3 2 AT (b) Far1 &2
(¢) Onlyl (fi) Only 2 © ¥ae 1 (d) el 2

N
3. Arrange the following' Sen rulers of Bengal in

: calo 3. s ¥ frefefas 89 TTEe H STE HIAFHFATTEL
ascending chronological-order : .
1. Ballal Sen g e d;”%‘;-
N [GHHO)|
2. Lakshman Sen @%ﬂ I o
) ¥ EyE
3. Hemant Sen 2 AEHIT fg’]%‘a
4. Vijaya Sen 3. BWaEA
Select the correct answer from the codes given below : 4 g T
(@ 4,3,2,1 B 2143 i fow e e B @ we s IR
) 1,2,3,4 @ 3412 @ 4,3,2,1 ®) 2.1,4,3
e : d 3,4,1,2
4. Consider the follow:ng(‘g@?lements with reference to (c) 1,2,3,4 (d)
Bairam Khan : LN ‘
1 Akbar gave the titf(é,:c}f Khan-i-Khana to Bairam | 4 ¥ @t F gt § fafafas st w famm hifsa
Ko, yet . oTeT 3 & G o @E-T-ErET o Iafr |

2. This title was not given at the time of
appointment of Bairam Khan as Vazir of

2. g IO AT & IS F ®7 °§ S| @i i

: frgfer % v T &g
Empire. '
Which of the above statements is/are correct ? 3‘1@?5 o @ HH-G1/A FYUT e /8 2
(a) Both1and?2 (b) Neither I nor 2 Pﬂ 1 3T 2 At (b) FAV 172
(c) Only !l (d) Only2 (c) Fael (d) ¥ad?2
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5. Write in descending order the following States on the | 5, 2011 FY SHTUET F AT ITH SHEAET F AU T
basis of their population as per Census, 2011 : Fetatas ot 31 W i fafau -
1. Bihar 2. Andhra Pradesh | faam 2 iy T2
3. Uttar Pradesh 4. West Bengal ' ' )
Choose the correct answer with the help of the 3. IWwew 4. dfgmama
following codes : ﬁﬂfﬂf@'ﬁf{ Y geTIdT ¥ 31T E@el I ﬂﬁﬁ :
(@) 3,4,1,2 b)) 1,3,2,4 3,4,1,2 1,3,2,4
: gsl) l},i,fhlz : (d) (3j,li14,2 : % L, 8, 4.3 (dy 3,1,4,2
. atc ist-1 with List-Il and choose the correct @%ﬂ #ifsm W
answer using the codes given below the lists : i nqaiai@ IQW It ﬂﬁq " T
List-1 List-11
A. Human 1. International
Development Rdport Monetary Fund A.
B. World Economi 2.  United Nations B
Outlook Environment ;
Programme C.
C. World Investmen®/ 3. United Nations D.
Report Development
Programme w7
D. Emissions Gap 4. United Nations S
Report Conference on Trade
and Development
Codes : (b)
A B C D =
(a 3 1 4 2 EyE 2
c 1 2 3 4 ' "
Ed)) 2 3 4 1 FTATHA o Aafeyd U, ge@ T8 § ot fadt
7. Consider the following events ahd arrange them in nfafafer o
correct chronological order starting from the earliest | TS T AT
to the last activity : ’
1. Pradhan Mantri Gramodaya Y ojana 2. TTOT TSP G shidshe '
2. Rural Employment Generation Programme 3 guEEE TS IS
3. Prime Minister Rozgar Yojana ) fif3 3 A
4. Valmiki Ambedkar Awas Yojana e v i ——
Select the correct answer from the codes given ﬁﬁﬁﬂﬁgﬁﬁuﬁwgﬁq :
}:1?'2’:34 , & 4514 (@) 2,3,4,1 (b) 4,2,1,3
© 1.2.3.4 @ 3214 (c) 1,2,3,4 d) 3,2,1,4

8. fimfaRas gfsat 1 st 1 srefwfagi /@@t & am aon
8. The following lists I and II show the names of IThL g’&lﬁ I UM AT F | ‘E[\Eﬁ-l Fl Hjﬁ-H q

Economists/Authors and their books respectively

Match List-I with List-II and choose the correc.t gll?lil |i|i§lq3ﬂt Ec\li‘il!ilﬁﬁﬁ%ﬁﬂwai&ﬂﬂﬁllm

answer using the codes given below the lists : e I AT

List-I List-1I N

(Economist/Author)  (Book) -1 -

A. Myrdal 1. Economic Theory and ErefmEt/aEE) (J9F)
Under-developed Regions - o

B. Hirschman 2. The Strategy of Economic A figa . SR Al U Sfeweaes fva
Development B. fesitm 2. TSN AT THETHF ST

C. Kaldor 3. Strategic Factors in C. &t 3. Wi $eaed 3 U ez
Economic Development <

D. AdamSmith 4. The Wealth of Nations D. wgHfm 4. 23w oli 3w

Codes : e :

A B C D A B C D

@ 1 2 3 4 @ 1 2 3 4

b)) 2 3 1 4 2 3 1 4

() 3 2 1 4 () 3 2 | 4

(d 2 l 3 4 d 2 1 3 4
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9, Which of the following statements is not true about | 9,
“‘ecological niche”’ ? aAgd aER? .
(a) Dominant species occupy extensive and broader (a) ¥9d wenfaat ﬁ'—g‘lﬂ T =i P
ecological niche. FIOTE |
(b) Number of species becomes large in ecological (b) pleaGEd urffufas a7 ¥ yiffefada fsa §
nic;‘l;e ' of natural ecosystem, if resources are qﬁi e gt g ar geTfort s arfereh qE il
t.
sufficien . e |
9/ ]\{ull:lbe.; of species becor;lfes'small in ecological © qifefyda fva § afe @amed i € &
niche, if res : . .
© Do ourc;:s are.: sul icient. ) it FW@@%,
ominance of ' single species becomes - : fardqTor &
- . frt g i TETET 1 THH g,
minimum if the resource distribution is (d) afe i AT
equitable in a habitat, 1 e STl 1 S 2T
; Tifaa S o el & 4=
10. Match List-I with ListTl and choose the correct [10- T Hfﬁf il =) e =
answer using the codes given below the lists : T FTHE I FHT:
List-1 List-II ‘fﬁ" weft-11
(Biosphere Reserve) (State) ( Y 4
A.  Simlipal 1. Kerala . A. T k_/l A
B. Nokrek 2. Odisha B. At 2. snfem
C.  Agasthyamalai 3. Assam C. ST 3
D. Manas 4. Meghalaya D. HFd 4 figgt
Codes : e
A B C D A B ¢ D
; 5 A ) (@ |1 2 4 3
(a) 1‘3:%% ®) 3 I 4 2
® 3 1 4 2 ol 9 2 4 3 1
© 2 4 3 1 &/ 2 4 1 3 SR
ﬂ 2 4 1 3 =
11.  Feafafes w0t w fmm fif
11.  Consider the following statements : 1. At dta srarie smewt % wiy wfagar ©w
/ . Scientific investigation depends on gommitment ffta 2
‘ to practical ideals. ,
prACTICATICENS: oo o 2. fage & damert sy =9 @ megi
2. Honesty is particularly important in science. 4 fo K =5
Select the correct answer from the codes given below : ’TQF REELS °I I
(a)  Both statements 1 and 2 are correct. (2) E‘Fﬁ P | S 2w E
(b)  Both statements 1 and 2 are incorrect. (b) T | 3R 2 T R
(c) Statement | is correct, 2 is not correct. (c) F 1T, 28 TR
(d)  Statement | is correct, 2 is unpredictable. ﬂ F | G R, 2 Ay R )
12. Which of the following is the correct order of plant 12. fef i.\@“ H ¥ FHA 3= Y et & dt
species from higher to lower order ? STt T HA R 0 pE—
(a) Class — Phylum — Order — Plant Kingdom (a) T —m07 _ ey s
(b) Order — Class — Phylum — Plant Kingdom M) Tt Ty ey g
(c) Class— Plant Kingdom — Phylum - Order (c) Tt ey g - Y _ oy
(d) Plant Kingdom — Phylum — Class — Order (d) 9 SE - g - _ oy
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13. Consider the following statements with reference to

the Justice Party :

1.  The Justice Party opposed Congress by calling

it a Brahmin dominated organisation.

2. It claimed the same communal representation

for non-Brahmins as the Morley-Minto reforms
had given to Muslims.

Which of the above statements is/

Both 1 and 2 (b) Neither 1 nor 2
() Onlyl (d} Only2
14. Consider the following statements with reference to

1. The Workers and Peasants Party was formed in
1927 and was given the form of an All India
Organisation.

2. The objective of this party was to work within
the Congress so that it could be made a more
revolution inclined party and an organisation of
the common people.

Which of the above statements is/are correct ?

(a) Bothland2 (b) Neither 1 nor 2

(c) Only! (d) Only2

15. Consider the following events and arrange them in
chronological order :

1.  East India Association g&%

2. National Indian Association @

3. Indian Society

4. Indian Association

Select the correct answer from the codes given below :

(@ 1,2,4,3 (b)) 1,3,2,4

() 2,1,43 (d 1,2,3,4

16.

Consider the following events and arrange them in

correct chronological order starting from the earliest
to the last activity :

1. Royal Indian Navy Revolt

2. Announcement of Cabinet Mission

3. Formation of Interim Government

4. Armival of a UK Parliamentary Delegation in
Delhi

Select the correct answer from the codes given below :

(@ 4,3,2,1 (b) 4,1,2,3

(¢ 4,2,1,3 d 2,413
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13, wfew o & awed & Frrferfiga s g faem i
1. feg e ¥ w1 faty 38 T SE e
T TS e R |
2. wﬁﬁt-mvﬁ%%qaﬂﬁmﬁﬁﬂﬁﬁﬁla
1 e Fran e o wrel-fie AR e
& feam am)
IS 8 ¥ A1/ Fud wE 2/ 2
M) 1SR (by FAT1AE2
(c) | (d) Fa=2
14, (T4 e e mA\E wd i et FeE T
faam fifse
1. o U fsize i w1 e 1927 § g SRS
e Aflger T T o ' femm |
2. @ IS 1 IRIW FUF F ITd & HH HEAT AT
foradl gaent Afus shifaetll e arelt 9 3R
ST S(AT FHT VTS 141 ST G |
T § F FH-AA F T/ 7
_/Laa/ | 32 At (b) TA19E2
() Fad1 (d) +aw2
15, Fmafafea geamedt w far fifse qon 3= Fargs= §
sqaftud e L
| e g e @6 © o4
2. Yeee fem T i
3. Ifema geEdt
4. Ifemm vafquee
ﬁﬁqmagﬁfrﬁﬁmgﬁm
(@ 1,2,4,3 ®) 1,3,2,
() 2,1,4,3 (D 1,2,3,:-]
16. Fr=fofen oeant W fmm e @ = @
FIATHA B rafiord S, el deet & e sl
_ Tiafaftras
1. Ol v e fage —
2. ez fimm g —19U5
[3. Al T 1 7T
4. fafow vodim wiatfnisa = Rl & strms
e fe e e % & w ww
¥ 43,21 ) 4,1,2,3
(© 4,2,1,3
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With reference to the Age of Consent Act, 189]
consider the following statements :

I. It was Behramji Malabari, a Parsi reformer
from Bombay, who advocated for this
legislation.

2. The Act was supported by the extremist wing
led by Bal Gangadhar Tilak.

Which of the above statements is/are correct ?

(@) Only2 (b) Neither 1 nor 2

(¢) Onlyl }d’) Both 1 and 2

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Shivaji had to face opposmon from
the big Deshmukhs.

Reason (R) : These Deshmukhs were not in favour
of an independent Maratha State and wanted to
remain as feudal lords of Bijapur.

Select the correct answer from the codes given below :

(@) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(b) (A) is false, but (R) is true.
(c) Both (A) and (R) are true, but (R) is mot the
correct explanation of (A).
(d)-- (A) is true, but (R) is false. g&%
[ob

Which of the folfowing reasons caused catastrophic
coral bleaching and mass coral deaths in the
Andaman and Nicobar Islands ?

(a) Increased industrial activities in the coastal
regions

Increase of 2°C temperature in the Indian
Ocean

(®

(c) lHeavy marine pollution
(d) Decrease of temperature by 4° C in the Indian
Ocean

Consider the following statements with respect to

Ashoka :

1.  The definition of Dhamma given by Ashoka is
taken from “Rahulovada-sutta”.

2. In the 14th year of his coronation, Ashoka
appointed a new type of staff, called

Dhamma-mahamatras.

Which of the above statements is/are correct ?

(a) Both 1 and 2 (b) Neither I'nor2°

(d) Only2

19.

20.

d
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wenfy &1 oy sfufrE, 1891 ¥ g ¥ Pty
M
Tl e AT -

|, ek 5 T R, ST S
ﬁﬁwwaﬁmmﬁ'

2w s 1 aer R A
<ot v 3 e e e |

S 7 & A T R

(a) A2 (b) AWML

(c) wadl (d) 1323

A1 21 o o e &, o @ O SRR (A) Ay

ga%a;‘rwm)mw%l

stfvro (A) : firarsht ) 7 2w & fort =1 A

T IS |

FNU (R) : &%wmwmm%wﬁme‘:

aﬁtm%wﬁaﬁmmﬁs}r

2 e me e & @ wd I AT

(A) 3 (R) 3T w& & @ (R), (A) FT G&

AT FAT2 |

(b) (A)TEd e, fFq (R) HET R |

(€ (A) 3 (R) T @& 2, T (R), (A) F &&
STEAT TE FaT |

(d) (AT frg(R) AR

3T Tt e tvane # frafafias o & fora s
& ST AT RS g1 e vare ft angfe g
B oft 2 EyE
(a) T & § sienfis nfafafia  9i %

f&=2 weramR & qomE § 2° ¢ i 3fg
(c) T EITE SEw
(d) f&= weETR & qmHE i 4° ¢ B F

319k o g 1 Frafafias wuat w famm fifse

1, o9 ¥ um f W ufymr & R aw

e A TR
2. IS TSI & 149 99 T 3790 T arHemS

AT U el ST o FHAHT bt Fgfeh 6 |
I & HH-AE Fo w2

| 3R 2 AT (b) TaAIAL2
(c) Fad| (d) w2
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21. Wztmticc;]ed c‘))ne of the following is not correctly |77, frfafag o @ s oF Tl fﬁ%ﬁ THE

m !

(a) Article 153 —  Office of the Governor (a) TR I53 - TANAHI IR

(b) Article 154 ~  Executive Authority of the (b) =< 154 ATl @1 R FTfERT

Governor v : .
(c) Article 155 ~— Removal of the Governor w T2 135 - il
(d) Article 156 —  Term of the Governor (d) e 156 - e o TemEty ()

72. Which of the following is/are stated in the ) ]

Constitution of India ? Pe— 22, T % "iauw § frafafas § @ w=n st e 2

1.  The President shall not be a member of either of 1. Tufd d@ue & ford oft g w1 ge=d T 2 |

the Houses of the Parliament. 5 . L i |

2. The Parliament shall consist of the President

and both Houses. ﬁﬁﬂ;ﬂﬁa@ﬁﬁuﬁwgﬁq
Select the correct answer from the codes given below : \% L ¥t 2 2r (b) Fa2
(2) Both 1 and2 (b) Only?2 (c) Ad1T&2 (d) a1
(¢) Neither1nor2  (d) Only | 2 G
@ Consider the following statements : (@ et Fem o famm i
An Amendment to the Constitution of India can be WM@EM feram =
initiated by the : HHATE
1. Lok Sabha 2.  Rajya Sabha 1. % QET S 2. TS QU1 I
3. State Legislatures 4.  President of India 3. g faumaigai g 4. wiE & gt g
Which of the above statements is/are correct ? I0dE ¥ S w2 0
(a) 1,2and3 (b) 1and2 (a)" el A 1502
(c) Onlyl (d) 2,3and4 ©) a1 @ 2.3 34 E]%%
24.  Which of the following are the functions of the C
Election Commissioner of India ? 24. mmwm&ﬁﬁﬁﬁ ?
1. Conduct of elections for the posts of the Speaker VO AN TT ¥ oTEqE 3N ITTEHE TuT USE O ¥
and the Deputy Speaker of the Lok Sabha and ST 3 Tat 3 fore frates S )

Deputy Chairman of the Rajya Sabha. ' ]
2. Conduct of elections of the Municipal % TR Tl s AR T & fau et

Corporations and Municipalities. LT |
3. Deciding on all doubts and disputes arising out of 5 3q§;5 fratem o 3= oft 428 ot faet =571
the above elections. ot
Select the correct answer from the codes given below : .
EiE %2 o Y e A AT
(@) 2and3 (b) land2 TR = A S
() land3 (d) None of the above (a) 233 (b) 132
¢) 133 % ITAE | '
25.  Which one of the following is not correctly © S EEELE
matched ? ' .
(@) G.VK. Rao _ Planningatthe |25, TG 5 W H-61 o et e 74 2 0
Committee Block Level (a) Stk el - gEsw w e
(b) Dantwala Committee - Rural Credit (b) T AR -
(¢) Santh ‘ — Panchayati Raj .
nthanam Committee Financgs % g affa — 9= sy B
(d) Ashok Mehta _ Panchayati Raj (&) iR Effe - gawd T gemd
Committee Institutions
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Which of the following is the correct sequence of
phases of Biotic succession ?

(a)
(b)
(c)
(d)

Ecesis — Migration — Reaction — Stabilisation
Ecesis — Migration — Stabilisation — Reaction
Migration — Reaction — Stabilisation — Ecesis

Migration — Ecesis — Reaction — Stabilisation

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Relative humidity decreases with
Increasing air temperature.

Reason (R) : Absolute humidity increases with
Increasing evaporation.

Select the correct answer from the codes given below :
(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the correct
explanation of (A). -

(A) is true, but (R)'is false.

(®)
(c)

(d)

Which one of the following is correctly matched ? C
(a) Ecocline —
(b)
(c)
(d

Biodiversity ~
Pycnocline —  Sea water density
Thermocline  —  Air temperature

Halocline — Sea water temperature

Match List-I with List-II' and choose the correct
answer using the codes given below the lists :

List-I List-IT

Planting Hearth | 1. Hungary
Adolf Engler
C.O. Sauer

Arctic Tundra

A

B.  Cryophyte Steppe

C.  World Floral Regions
5 ‘

Sl B

Puszta Grassland
Codes :

26.

217.

29.

I N

472 e e e, R & O SR ()

g O (R) FEN AL
e (A) : WA AT A 3 TTF & gy

gedi 2 |
ﬁm(ﬂ) aﬁwﬁaﬁ%mﬁmaﬁmﬁa@

B |

:ﬁ%ﬁqwﬂﬂﬁ%"fmaﬁq
T FE FEAT R |

(b) (A)TeEE, g R) WA R

© (A) 3 (R) A wE E M (R), (A) fw
T FTT R |

y/‘ (A) T, g (R) e & |

8
frefafias § @ #-a ad gafaa 2 2 ﬁ&%
(a) TR - Sa-fafawar
(b) TRHFIEART - T 9T g
(c) udigerEsd  — o 1 AGHA P
(d) ¥ - G S e
-1 1 oef-11 & e Aifvre i gfirdt % 7
Wﬁwmmuﬁwgﬁq
Tl T-11

A, TRIYOT ST 1. g
B. SFEI%E: B 2. TS U
C. o % qudier 3. &t 3w
D. e o Aapy 4. S
kT

A B C D
(a) 4 3 2 1
(C) 3 4 1 2

1 2 3
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Which one of the following pairs (Aluminium
Plant — State) is not correctly matched ?
()
(b)
(c)
(d)

30.

Kerala

Alupuram (Alwaye)
Belagavi - Kamataka
Muri -

Hirakud

Chhattisgarh
Odisha

Which of the following pairs (National Park -
State/Union Territory) is net correctly matched ?

(a) Uttarakhand
(b)
(©)
(d)

3l

Rajaji =
Pin Valley

Jammu and Kashmir
Karnataka
Odisha

Bandipur -
Simlipal = -

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

32.

Assertion (A) : The Himalayas are still rising.

Reason (R) : The Indian tectonic plate is colliding

with the Eurasian plate.

Select the correct answer from the codes given below :

(a) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(b) (A)is false, but (R) is true.

(c)
explanation of (A).

(d) (A)is true, but (R) is false.

33, Match List-1 with List-II and choose the correct

answer using the codes given below the lists :

Both (A) and (R) are true and (R) is the correct

| STUDY247. 1N
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. feffe g (gt §
FH-41 el gifera 7 2

(a) SFETTH (IFAaTH) - wd

(b) st - FAE
W - oeTg

@ #oge | _ aifem

3. Freffiga it e 3am - TeEEasT ) # @

FH-1 4 gyfera 781 2 2

(a) TR - ITOES

o 3t ~ SH T YT
(c) &R ~ FAH

(d) fomeforer - sfifem

32. 49 Fom e €, o @ o i st (A) T
T L R) o
atfireru (A) ¢ ferem anfi S S v 21

T (R) : MR 2 ot efirr e & e @
21 3

List-I List-1I myE
(Coal Resources) (States) é&i
A. Hutar 1. Madhya Pradesh
B. IbRiver 2. Chhattisgarh
C. Tatapani — Ramkola 3. Odisha
D. Umaria 4. Jharkhand
Codes ;
A B C D
@ 3 2 4 1
® 2 1 3 4
© 4 3 2 1
d 4 2 3 1

(a) (A) 3 (R) 21 @& &, FF (R), (A) T &&
ST TE FAT £ |
(b) (A)Tea e, e (R)wET R
&r (A) 3T (R) Tt wer & 3T (R), (A) FT T
ST AT R |
d) (A "SR, g (R) @R oye
. A g A s g S A
Waﬁéﬂﬂfﬁﬂiﬁ{ﬂ‘ﬁmgﬁm
a1 \ gt
(@17t en) {9
AT 1. "EWRW
SR 2. oftag
C. dmmH-THHen | 3. snfewm
D. saf@n ’\4. FRES
3‘\\?:
A B C D
@ 3 2 4
® 2 1 3 4
M 4 3 2
(d 4 2 3 1
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Match List-I with List-II and choose the correct
answer using the codes given below the lists :

List-I List-1I

(Canals) (Rivers)

Upper Bari Doab Canal 1. Sutlej

Sirhind Canal 2. Yamuna

Gurgaon Canal 3. Sutlej, Ravi, Beas
Indira Gandhi Canal 4. Ravi

Codes : ik

e N - -
RN - WA

.::.w.l:;tuu

Which one of  the following  pairs
(Crop - Peculiarity) is not correctly matched ?

(a) State where rice is grown — West Bengal
three times in a year

Bihar’s contribution to -
rice production

State witb,.lérgest area =
under rice‘production
Isohyets that decide
western limit of rice
producti(;n '

(b) 15-7%

(c) Uttar Pradesh

100 cm

(d)

Consider the following statements with reference to(@

cotton crops :

1. Cotton is mostly a Kharif crop.

2. Cotton crop requires moderate amounts of
rainfall varying between 50 — 75 cm annually.

Which of the above statements is/are correct ?

(a) Bothland2 (b) Neither 1 nor 2

(c) Onlyl (d) Only?2

Given below ;retwo statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A): Red soil denotes the second largest
soil group of India.

Reason (R) : Red soil surrounds the black soil in the
south, east and north directions.

34.

37.

Y

STUDY247. 1 N
@_Ia}aﬁ_llagﬁﬁﬁmaﬂfgﬁﬁ%ﬁ&g
o g 1 T e I I

gef-1 eIl
A. Faft S gratTe T&l 1. §as
B. @ifeg & ‘,/DZ' FE
L 2 T
D. sfea mi T& 4. TR
f‘E:A B C D
@ 4 1 3 2

4 1) 2 B

/%:)) 3 ll 2 4] E]‘gﬁ

frafafaa goi (Fo

() WaiuEa A daEed - IR e
¥er & aTeAT TST

i) 1ae IaTed 8 far — 157%
e

(c) T IeaTe & e _ IR
gaffirr eeet aTat T

(d) e Jeare H iyt — 1008
i fuifta e areft
guast @t

FIH FHel & g # frafafaa sl w faEn

Fifse -

1 O Ed TS e © |

2. wUW ¥ 3w ¥ faw arfs 50 @ 75 @nft i
T 9 Y STl B 2 |

39 7 & HH-A1/A F | 2/ 2

(@) 132t by  qAar 172

(c) Had 1 Fae 2

et &Y e e o €, T U Y e (A) U

WX ! HIOT (R) FET TR |

i (A) : I 931, YRA & O a9 YT 99
FI et |
HROT (R) : ATA §aT, Hieft JaT i afdqur, gd 3l 3w
feamati @ Ot

Select the correct answer from the codes given below : .
(a) Both (A) and (R) are true and (R) is the correct ?:)%ﬁ?:)q g{ﬁ(i}aﬁm q'gﬁ%ﬁ%qaﬁ-( ®). (A) B i
explanation of (A). i S 2
(b) (A) is false, but (R) is true. b) (A)TEE R, feeg (R) TR |
(c) Both (A) and (.R) are true, but (R) is not the w (A) 3 (R) alfﬁ a@ & fr (R), (A) F ad
correct explanation of (A). % : ST FgT F@T R | ”
(d) (A)istrue, but(R)is false. @ (d) (A) TR, fFg (R) TR



MYUPSC. IN | STUDY247.1N

%% D.STF-1-23
& ist-I' with List-Il and choose the corre '
= Z/:ls::r Ef::gl the codes given below the lists : e gﬁ%i%gﬂﬁﬁ@ T
List-1 List-11 @-1 qei-11
(Name of the City) ﬁz:r::;;)fbemg w) T@Wmaﬁﬁ@
A. Kanchipuram . Post-independence A. g 1w
B. Jaisalmer 2. Colonial Period B. Se 2. shafafi e
C. Kodaikanal 3. Medieval Period (2_@ 3. WS
D. Bhilai 4. Ancient Period D. fireg 4. EAEE
Codes : T -
A B C D ) x B ¢ b
@ 2 3 4 @ 2 3 4 1
JJM 4 3 2 1
() 1 2 3 4 o7lg) ‘,/@’) 4 3 2 1 s
(d 3 4 1 ) . e ) 1 2 3 - E&'ﬂ
d 3 4 1 2
39. Match List-I with List-Il and choose the correct
answer using the codes éiven below the lists : 39, Hjﬁ-l Eal @-Il q gﬁﬁ-‘iﬁ Fife it Hfﬂﬁ % = g
List-1 List-IT T T FT TANT H I A :
(Famous Local (Place/Area) -1 w=t-11
Storm) wfag e %™ ) (ET/833)
A. Mango shower 1. Punjab to Bihar A. TH gt 1. Y999 ¥ faeasw
B. Blossom shower 2. Kerala L B. Fﬁmm -t
C. Norwesters 3. Karnataka Coastal Areas C. wA-aTE ¥ aﬁﬂm!ﬁi
D. Loo 4. West Bengal D. q e s
Codes : %z - :
A B C D
A B C D
@ 3 2 1 4
® 4 1 3 2 @ 2 L4
© 3 2 4 1 e ¢+ ' 3 2
@ 1 3 2 4 ‘/&d 3 2 4
d 1 3 2 4
40.  Which of the following pairs is mot correctly
L 40.  Frfiian ¥ & Ao qm gt T 2 0
Capital Country TR -+ SR
(@) Naypyidaw —  Myanmar (a) Ao _ uﬁ“m’ y
(b) Khartoum —  Ethiopia teIng] ~ it
(¢) Dublin ~  Ireland (c) efer S L S |
_________ (d) Ottawa —  Canada (d) e — TS
--------------------------------------------------- . 11*“
o
O e
O
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41.  Consider the following statements with reference to
er Gangetic agro-climatic region™

I, This region encompasses central and western
Uttar Pradesh.

2. This region has more than 130%
intensity and 140% cropping intensity.

irrigation

Which of the above statements is/are correct ?
(a) Bothland?2 (b)  Neither | nor 2
(¢) Only | (d) Only2

42.  Match List-1 with List-I] gng choose the correct

answer using the codes given below the lists :

List-I List-I1

(Pass) (Height;fr;m Sea Level)
A. Debsa L. 5360 metres
B. Rohtang 2. 4850 métrs
C. Bara-lacha 3. 3978 mc;tr;s
D. Banihal 4. 2832 metres
Codes :

A B C D

@ 1 3 2 4
® 3 1 2 4
€ 1 4 2 3 e
@3 1 e o =

(™
L
)

43. Given below are two statememlﬁ;;:?ne is labelled as
Assertion (A) and the other as Reason (R).

2w N ;
Assertion (A) : Jute is an indigenous plant of'India.
Reassn (R) : Jute is a Kharif crop sown from
February toTune and harvested from July to October.

Select the correct answer from the codes given below :

¢

(b) (A) is false, but (R) is true.,
(c) Both (A) and (R) are tru%,_,l)ut (R) is not the

correct explanation of (A)~: i,
)

(d) (A)is true, but (R) is false.,

Both (A) and (R) are true anqd (R) is the correct
explanation of (A).

STUDY247. | N

42.

43,

%mmﬁmmmﬁﬁw%.
g e e 130% 3 % T g
e 0%

3 frw o e 4 @ Wl I
yﬁ) | 3t 2 2t (b) TAdTITE2

a1 gt @ gifera AR 3 e & A

T 2 1 AT o T IR AT -
a1 ™
@) (F9Z T 8 $9T3)
A. 9|1 1. 5360 #eX
B. qgamm 2. 4850 e
C. IR arET 3. 3978 Hiew
D. sferE 4. 28327
% EyE
A B C D m’&i
(@ 1 3 4
3 1 ) ‘ 4
(c) 1 4 2 3
(d 3 1 4 2

ﬁ%%mﬁqw%ﬁﬁﬁ@aﬁmm)w
A H FT(R) FRTTATE |

ATUHUT (A) : T W 1 g g 2|

FRT(R) : 2 @l H e 2, R ot @ o
S ST & oIl e & Szt 3 et ey e 2

@ (A) I R) ¥ w ¥ s (), (A) 1 v
AT FAT R |

®) (M) TR R, e (R) w2

(© (A)W(R)ﬁﬁuﬁiﬁr@(m, (A) Ft a8
ST T e @ |

@) (AR, g (R) e R
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@r“ e 5 e i )
ich List-I with List-ll and choose the correct )
o I:Ii:;:'er using the codes given below the lists : 4.  gefi-1 # geh-1 @ gafea Ao it gfedt % e
List-1 List-11 . faw 0 2 1 i # wd 3w A
(Essayist) (Treatise) g1 'G!\iﬁ-ll
A Devanczla Bhatm ; . ][?an Shag,al\r/i = Frterm) (e
B. Hemadn . arashar Madhav
c. Madhvacharya 3. Chaturvarga A. T wg . &HHEM
Chintamani B. &Iz 2. qUIR HTEE
D. Ballal Sen 4. Smriti Chandrika C. grgar=r 3 a@éﬁﬁﬂmﬁ
Codes : D. Scdtd 84 4. wfa Ttz
A B C D C A
(a) 4 1 3 A B C. D
® 1 4 2 3 =@ @ 2 4 1 3
@ 3 2 1 4 'ﬁgﬁ ® 1 4 2 3
(d 4 3 2 1
45. Given below are two statements, one is labelled as ) .
Assertion (A) and the other as Reason (R). 45, A= 3w o ¥, R & uw H AfaE (A) @
Assertion (A) : Turkish invasion on India was aﬁaﬁw (R) FETL |
successful. srforaerT (A) : 9T T qH! SATHAY T6eA BT |
:lnza;:on (R) : There was no political unity in North FWW (R) ;_munaﬁrﬁr-ﬁﬁiﬁmﬁf&ﬁ '| E’%‘%
et R - Fr e e e § @ v s AR ==
elect the correct answer from the codes given below : 1 :
) g_ (a),, (A) T9T (R) 21 @&l & 3 (R), (A) N @&
(a) Both (A) and (R) are true and (R) is the correct 2
explanation of (A). :
() (A)is false, but (R) s true. (b) (AT R, FR)W%'
(c) Both (A) and (R) are true, but (R) is not the (© (A) T R) A ' E g (R), (A) B wE
correct explanation of (A). ST T FHTA1 2 |
(d) (A)is true, but (R) is false. d (AR FgR) @R
46. Consider the following statements regarding Voice of - . —
Global South Su '1g(v 0GSS) - 46. (AT 31 e @Y aftre (@30 fowm) F ey
' 4 o 4 HEIIREd U1 T [S=R i
l. India recently concluded its 2"° Voice of . " z
Global South " . 9@ J A & H S qE dEE e e
a3 gite wra= foean
2. The term Global South is related to developed 21
countries. 2. UESEIE 'E@“Wﬁwﬁm%|
Which of the above statements is/are correct ? TG H & B T T 2R 2
(a) Only2 (a) Fad AN
(b) Neither 1 nor 2 (by TA1TE2
() Only| yﬁ' Fad |
@ Both1and2 () 13h2RTY
---------------------------------------------------------- Y
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i ¥
What does the Intergovernmental Panel on Climate @ sfrered e (ol Tt A (3
Change (IPCC) emphasize regarding reductions Elﬂ Wjﬁf_’_————— A1) firg
greenhouse gas (GHG) emission ? qU R AT e )
1. Gradual and limited reductions are enough. mﬁmﬁam s
2. Deep, rapid and sustained reductions are essential. 2' el e 3t far=at Fer! HEF ¢ |
Select the correct answer from the codes given below : ' ’ aﬁg‘g’faﬁ'{ﬂﬁ"’{ :
(a) Both 1 and 2 (b)  Neither | nor2 ﬁmgﬁm (b) a1 982
(c) Only 1 (d) Only2” (@ 142 P
: (c) Fad I (d)
48.  What does the term “Cereal Yield” refer to ? fs: “ AT m'wﬂmwg? .
L. The amount of cereal crops produced per unit are —/ T ™ yf ¥ wfa g &7 ° I sy
of harvested land h L o T
2. The total production of cereal crops in a given ; s
cpumisy 5 mmmwammmﬁm
Select the correct answer from the codes given below :ﬁ%ﬁqméﬁzf{ﬁﬂﬁm <) I'a 4o
(a) Both 1 and?2 (b) Neither I nor 2 (a) 1323E (b) AdrLd
(c) Only 1 (d) Only2 (© Fa@l (d) F2
- - " ing |49, STes-Resry, 2019 3t emEfadER, 2022 %
49.  Which of the following statements is true regarding - £ vafy % gay § Frefifad § @
the trend of unemployment rate in India between W § SUSTH &
July-September, 2019 and July-September, 2022 ? FH-H1 YL G & 7
L. It remained the same. I FEferd
2. Itdeclined. 2. AEHETE|
Select the correct answer from the codes given below : = ﬁ-qrrqih'{ﬁ@miﬁmﬂﬁq :
(a) 2istrue and 1 is false. @ 2 aﬂ%aﬁt | AT R
() Both 1 and2are s o2 de ey
s false.
EZ; B(l)sth 12:32&16 true. (©) 1;{},‘1%3}%{2!1?16% @%%
4 o st 2 AT wE F | E
50. l\;Vho prepares/publishes thqulobal Multidimensional 56.) Gifaer srestmmd e g ghw g ) fad =
overty Index (MPI) report ? %
. World Bank and International Monetary 'Fund ﬁmwaﬂ 3 AT 8 2
(IMF) o )dﬁaémaﬂ‘(mgﬁugmm (38 T .TF.)
2. Oxford Poverty and World Health Organisation s el i fay ey @ (S50 341
(WHO) . B o
3. Oxford Poverty and Human Development 3.34.Iqu§léleil S A TES (3 0=
Initiative (OPHI) 4. %geh g, foshrd s (1.0 21 )
4. United Nations Development Programme ﬁmwgﬁﬁwww:
(UNDP) . 3t b) Fae 4
Select the correct answer’ from the codes given Q{ 2 4 (b)
bl (F Yo 134 - Al) 334
(a) 2and4 (b) Only 4 E@E 51, " @ e Ry e &, R & o 1 v (A) @
© 1and4 (d) 3and4 s ) HT (R) FETTATE | |
51. Given below are two statements, one is labelled as AfFUT (A) : Haq foerre sl uron &6t szt far
Assertion (A) and the other as Reason (R). ' L SHTET T | .
Assertion (A) The concept of Sustainable HIOT (R) : sieere Fa 9 “faerg & doreiy 3 wv 8
Development was popularised by the Brundtland ST |
Report. ' . !
Rzgson (R) : The Brundtland Report is also known :ﬁ%ﬁqnqagﬁﬁaﬁmgﬁq:
as * The Limits to Growth”. _ (A) T (R) AT 7t € g (R), (A) 1 &
Select the correct answer from the codes given below : Qﬂ T T e | >
(a) Both (A) and (R) are true, but (R) is rot the
oomeet explanation of (A) (b) (A)TEEE, ﬁ;@%m H%‘; 2 -
A) is false, but (R) is true. , @ (R) I 3R (R), (A
g?)) 1(30)111 (A) andf(g{)are true and (R) is the correct () gI\r)@TR(ﬁT)%l il (R), (A)
lanation 0o .
@ ("';*)’ s true, but (R) is false. d) (AT, Fr (R) TR
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Consider the following events and arrange them in
ch,onological order :

world Heritage Day El’%%
world Thyroid Day (Of

1

2.

3, world No Tobacco Day

4 International Day of Light
gelect the correct answer from the codes given below :
@ 3124 ® 1,4,2,3

() 2.3, 1, % (d) 4,2,3,1

Match List-I with List-II and choose the correct

answer using the codes given below the lists :
List-1 List-11
{Person) (Reason)
A. Gopi 1. First Indian Gymnast to win
Thotakura Gold at Asian Championship
B. Dipa 2. Indian born NASA scientist
Karmakar who led the team to study
solar ecliptic impact on
ionosphere
C. Aroh 3. First Indian Spéce Tourist
Barjatya

D. DevPatel 4. British actor who made his
directorial debut with thriller

“Monkey Man”

Codes :
A B C D
(@ 4 1 2 3
b 3 1 2 4
() 3 2 1 4
d 2 1 3 4
4.  Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) During 2023 - 24, Singapore
emerged as the largest source of FDI to India.
Reason (R) : The India — Mauritius Tax Treaty
amendment has brought a major shift in countries as
major sources of FDI to India.
Select the correct answer from the codes given below :
(@) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).
(b) (A)is false, but (R) is true.
(€) Both (A) and (R) are true and (R) is the correct
explanation of (A). :
@ (Ayis true, but Ry is false. ..
B o

N

53.

D.STF-1-23
2. frofufan weas @ frew i @ S5
FIAFYET Hafeerd HIfT
. faug farwa fae
2. fam urgtss feaw %
3. fom v, Fiw foaw i
4. sratsig yeh fead
ﬁﬁﬂﬂ@ﬁﬁaﬁmgﬁn:
(a 3,1,2,4 (b) 1,4,2,3
(c) 2,3,1,4 d 4,231
HfﬁJaﬁagﬁ-nﬁgﬁ%a@ﬁQaﬂtaﬁiﬁ%:ﬁ%ﬁq
W@mﬁﬂmnﬁmgﬁq:
aEt-1 :
(FR)
. q&mﬁ%&qmqﬁwﬁeﬁa%
el et e A
oI § 9= NASA 391t
eIy ATEH-HE TUET
SFererel 3 ST o ST
areft A =1 Jqea TR
TSI _
D. g 4 Fafesr sthirra el e <wh
= 3wy Frdee & YT I
e :

54.

15 *

M0
sz

e'/(ﬂ

| STUDY247.1N

o

(a)

[ A - -
w o= N NM
P N N

9 2w o e ¥, e o w freE (A) qn
E@’taﬁw(l{)mwél

atfirmuT (A) : 2023 — 24 F <A RmQT, wwa § FDI

1 TR T HI SAHL 3T |

W (R) : YA — WrwE & G@fY gas § aa §
weay et fawr (FDI) % wi@ @t & &9 & 2 &
T FEAT AATR

:ﬁ%ﬁwﬁqgﬁﬁaﬁwgﬁq

(a) (A) @41 (R) At @& &, feg (R), (A) it &
AT TE FATE |

(b) (A)TETE, g R)EA R
(A) @1 (R) AT @t € 3 (R), (A) A 7
T FAT R |

(d) (A) TR, g (R) e B

UMy,
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5. Whatis R21/Matrix-M™ 2 s5. Rzl/AfgEM T S Tt
(a) Vaccine against Malaria developed by Serum (a) Hw
Institute of India ftgere T
et faepfea ot
(b) Vaccine against Malaria developed by Bharat y Wi qEARE LY %
Biotech International faee T
(c) Vaccine against AIDS developed by Serum £ ite: S (0 A sit ¥feam &0 T
Institute of India Raetre T
(d) Vaccine against AIDS developed by Bharat aTd SReE ErACNEC IR fowfld TeH ¥
Biotech Intemnational figems del
| e F1 e Hiad, 2024 & 3H
6.  Who among the following won the best actress award s6.  Frefeas & & Sfrar 2
in the Un Certain Regard:category of the Cannes l!ﬁ?li'llé it § g mliﬁﬂlﬂiﬁi {
Film Festival, 2024 ? (a) Toram Srreat %
(a) Kiara Advani ‘/(b) WW @
(b) Anasuya Sengupta (c) IJuft Qe
(c) Urvashi Rautela EL%’JTET
(d) Sobhita Dhulipala
(D) CGorzpn frrrge o st & frefafaa & @ FA-8
/ Hﬁ’r%/%‘ ?
37.  With reference to RudraM-II Missile, which of the .
following statements is/are correct ? WEBHT-@—EHTI}WE{?EIG‘“ Ii’lFl.lsF‘l :
1. It is an air-to-air missile. 2. TR T g 2024 B TS I.ﬁl ARSI
2. It was tested in Rajasthan in May 2024. & i fag e e & @ @t s g
Select the correct answer using the codes given below : (a) Fad 2 b)) 4 ar1TE2
(a) Only?2 (b) Neither 1 nor 2 (c) Fad1 (d) 132t
(¢) Onlyl (d)' Bothland2 ‘; ]
h 58. g1 ® g1 & gafoa g o it F = kg
8.  Match List-I with List-Il and choose the correct Wf{ﬁmﬁﬂﬁﬂﬁmﬂﬁq
answer using the codes given below the lists : q\iﬁ_[ @-H
List-I List-II ([d Fatfaa 17 7E) (@)
(Newly Elected Head (Country) A. TaEE =T 1. 3gEAS
of the State) o <
B. g3 ~_____—2 fomam
A. Gitanas Nauseda 1. Iceland g
B. Luong Cuong 2. Vietnam C. &t THEsiie 3. forpentn
C. Halla Tomasdottir 3. Lithuania D. Gﬁﬁmgﬁlﬁ 4. GAmET
D. Jose Raul Mulino 4.  Panama
Codes R -
A B C D A B C D
(a 4 1 2 3 (a) 4 1 2 3
() 3 1 ) 4 ® 3 1 2 4
=
@ 2 + 3 4 ol o .

Em—
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MYUPSC. | N

WhiCh one of the following pairs (Deccan Trap —

peculiamy) is not correctly matched ?

2) Depth of middle trap - 1200 metres

approximately

(

(b) [ntertrappean beds Fossils of sezi plants
and animals

©) Depth of lower trap 150 metres

approximately
(d) Depth of upper trap 450 metres

approximately

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : Jet streams discovered during World
war 11 are high altitude easterly winds.

Reason (R)
300 — 500 km/hour.

Select the correct answer from the codes given below :

(a) Both (A) and (R) are true and (R) is the correct

explanation of (A).
(b) (A)is false, but (R) is true.

(¢) Both (A) and (R) are true, but (R) is mot the

correct explanation of (A).

(d) (A)is true, but (R) is false.

Match List-1 with List-II and choose the corrcctc

answer using the codes given below the lists :

List-1 List-11

{Country) (Mountain)
A. Spain — France 1. Alps
B. Switzerland 2. Apennine
C. Bulgaria 3.  Pyrenees
D. ltaly 4.  Balkan
Codes :

A B C D @%%

@ 3 1 2 4 (ol
® 3 1 4 2
) 2 3 4
@ 4 1 2 3

: Jet streams flow with a speed of

|  STUDY247.IN
D.STF-1-23
(% Fretferfiaa it (zaer 30 — fotoan & & F-81 @€
guferd 7&t 2 2
(a) FeAdTdred - T 1200 HIK

anrfa great T SR
F 37avy (Sfare)
ST 150 HeC

(b) Wik wHadiaad -

(c) f=a3udraes
(d) Fah 39 A

ST 450 HiE

60. @ wue Ry e ¥, i & o @i ANERYA (A) T
TE T FAT (R) FETATE |

s (A) : fedta favg 7@ & o @ T 92
W,Mmgﬁmﬁwﬁwﬁhmgaﬁﬁl
RO (R) : Sz ariy i gare 7 300 — 500 fawrt fa
Prag 4

19 g e e 7 | wEt sw g

(a) (A) 3R (R) 21 @ & 3 (R), (A) T qET
AT FETE |

(A) e 2, g (R) &1 B

(A) 3 (R) 3F1 @& &, fF (R), (A) St |&
AT FATR |

(A) @& &, frg (R) A 81
-1 g1 & gk Bifg si g % A9 g

(b)
S
@

gl

T 2 T FANT L FE I g
g1 3
(531) F{\ﬂi}l]

A, %" 1. A9

B. faEe 2. WAt

C. gemian 3. fichw

D. sett 4. dowA

e
A B C D

(a 3 l\ 2 4,

(b)) 3 1 4 2

() 2 3 1 4

@ 4 1 2
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62. Plants and animals that live on land are called : 62. ‘Lﬁ“maﬁ@_ﬁl__—qm
(a) Abiotic (a) I
(b) Aquatic habitants (b) et frared
(c¢) Terrestrial habitants (c) Wﬁaﬂﬁ
(d) Biotic N
i 2
63.  The joint where the neck joins the head is : 63. wﬂ%aﬁgaﬁfﬁ?ﬁ(ﬁﬁm: PSR
(a) Pivotal joint (b) Saddle joint (a) firared g (d) aﬁa@?ﬁ%ﬁfsﬁ%
(¢) Hinge joint ' (d) Ball and socket joint () fesisig @
64.  The disease-causing microorganism among these is : 64, gﬁﬁﬁﬂﬁﬂwmﬁ i
(a) Archaea (b) Pathogens () ffeka (b) TMY
(c) Bacteria (d) Protozoa J) agifar (d) S
65.  Milk is an example of - 6. A dfrEERITEIE?
(a) Foam (b) Sol (@) WM (®) # EgE
©) Aerosol (@ “Emuision (c) W Ul e égﬂ
66.  The formula of baking soda is : 66. IFTHSFIGIL:
(a) KHCO, (b) NayCOs (a) KHCO; (b) Na,COjy
(©) K,CO, (d) NaHCO; (c) KyCO4 (d) NaHCO,
67. CPR stands for : 67. CPR(Hidftam)darde:
(a) Cardio Programme Rescue (a) Eﬁﬁmm' .
(b) Cardiac Pulsatile Revision (b) FIETH TeeTEe WY

Cardiopulmonary Resuscitation gg% &/ *ﬁﬁmw
(d) Cardiopulmonary Revision md (d) FfSATeH T

68.  The only vein that carries oxygenated blood is : 68. % THEAH fIwT S i IF Td 8 Rl 7,

(a) Pulmonary vein (b) Cystic vein T @
(c) Cardiac vein (d) Hepatic Portal vein (a) e fRm (b) fafees fir
(c) fdas fir d) feifes oea firn

69. Diabetes is the most common disorder associated

it 69. WYHE Wl o U aga & wrr= faehn 2w dar R
(@) Kidney (b) Gall bladder (@) » FFHE (b) foemma @
(c) Liver ' (d) Pancreas (c) FHad (d) FAMEE
70.  The recent global pause during COVID-19 pandemic W BN -Eg_ﬁ \“]9; hd =l
was caused dueto; =*' PRTE :
(a) SARS-CoV-1 - (b) H5NI » SARS-CoV-1  (b) HS5NI
(c) SARS-CoV-2.-' (d) MERS-CoV-2 (c) SARS-CoV-2 (d) MERS - CoV-2
71. A bus covers the first half of a certain distance with | 71. &% 58 uah fif¥=q Q}DT FI TEet el Eft V) nfa | by
speed v, and the second half with a speed v,. The mﬁ%wmmaﬁvﬂﬁra@m%n@w
average speed during the whole journey is: . 5 =g it offda i Bt 0
v,V 2vv . Vv 2vv
@ —= & @ —= © —*=
vt v, Vit v, Vit v, vitv,
vt v,

g D @ v ©
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ga hich one of the following pairs is not correctly

regarding  peculiarities of Ramganga

1 malChed

prngC[?
@®) pam’s length I
() Hydropower generation ~ 198 MW
capacity
©) Location — Garhwal
(Uttarakhand)

) Irrigated area — 6 lac hectares

Consider the following statements with reference to

cultivated area of some countries of the world :

1. In comparison to_USA, China and Japan, India

has highest geographical area under cultivation.
R o e

7. India’s. location in tropical .mopsoon region

helps diversified cropping all through the year.

Which of the above statements is/are correct ?
(a) Bothl and 2 (b) Neither 1 nor 2
() Onlyl (d) Only2

4. Match List-I with List-Il and choose the correct

answer using the codes given below the lists :

72.

73.

D.STF-1-23
i i o i 3 e # e 3
8 § a1 we) gfera 78 8 2

(@) afu i ciad 8258 H1et

(b) Seiferega wifts IedrEA | 98 TTTEATE
&Fear ,

g ferfa _ Tgad (3TUEE)

(d) fafua &= i _ @ gERed

ﬁw%gméyﬁ%aﬁﬁaﬁi%mﬁﬁﬁﬂmﬁ
FyAt 9T fa=m Hifsa
1. USA,aﬁqaﬁtWﬁgamﬁmmgﬁm

“imitferes & atfuraan 2 |

2. 3w g sreraTy S A ferd 9 & HIT Wrd
o wre frferefierd waelicaTed ST R |

It A FA-HIA U TE /R ?

S paf2 e () FAITE2

Fad |

(©) ) (d)  FES 2

geft-1 1 g1 & gafera Fifsig s gfe & e fog

List-1 List-1 Y 2 T FANT T FET IAT I
(Place) N (Confluencing Rivers) @_l T ﬁ‘l,l
A. Devprayag 1. Alaknanda and Pindar (TT) Al &1 TTm)
B. Rudraprayag 2. Alaknanda and A, FEWEET ) 1. 3YcTeher 3k fiex
Bhagirathi .
B. &5 2. ITSFART 3T et
C. Karnaprayag 3. Bhagirathi and
Bhilangna C. k] .-3'j TReft 3 fivefrn
D. Tehri 4. Alaknanda and D. f=h A AAFART I Tty
Mandakini oM
Codes : e ¥
A B C D ) % g £ b
' [oHO]
@ 4 1 2 3 - @ 4 1.2 3 5
® 2 3 1 4 bz ! 4
) 4 1 3 2 © 4 : 3 8
2 4 1 3
T T =
------------------------------------------------------ T R —
v 5 5
y [ 4 5 . —
-
10
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75.  Consider the following statements with respect to the
climate of Western Europe :
I. Western Europe receives rainfall in all months.
2. Western Europe is located in the belt of
Westeles™
Which of the above statements is/are correct ?
(@) Bothland?2 (b) Neither | nor2
() Onlyl (d) Only2
76.  Consider the followingw—-_—i——d_amn’ ‘ ff them
in correct order from|[West to East by their location :
1. Karakoram 2. Pontic
3. Hindu Kush 4.  Zagros
Select the correct answer from the codes given below :
(a) 2,4,31 (b) 2,3,4,1
() 4,2,3,1 d) 4,1,2,3
(d) g%g
77. Which one of the following pairs (River — Direction)
i not correctly matched ?
(@) Amur river — North-East
(b) Syr Darya — North-West
(¢) Angara river — North
(d) Mekong river — South-West
78.  Which  one of  the following pairs
(Country - Oil field) is not correctly matched ?
(a) Iran — Haft Kel
(b) Kuwait - Kashagan -
(c) Saudi Arabia - Dhahran
(d) Iraq —  Zubair
€ s

79.  Consider the ing statements with reference to
Mediterrantan climate

1. Itreceives rainfall in winter season.

2. Due to winter solstice, air pressure belts shift to

the South.
Which of the above statements is/are correct ?
(a) Only2 (b) Neither | nor?2
(@ Both1and?2

.

STUDY247. I N
D.STF-1.23
75. _uferd i 6 s & e § AR e g
faram #ifsre
| e g0 et T A @R |
5 qﬁaﬁqﬁqﬁgﬁﬁﬁiﬁaﬁ%mﬁuﬁh
e i e e 3 2
o | aft 2 gt (b) TAr1dE2
© ¥l (d) *ae2
76. Lot fomm T 791 3% 1 =
B A
| FRERE fn 2. i
3 o 4 g
9 Frg g 2 4 4§ W R g
L 2t e
© 423,1° @ 41,23,

71, fefafas gut @@ ot st yae fomm) & @ Fa

HEl gAfera 7E R 2
B - e
) faefan I-gfvemy
(c) MUt (r:r 4
(d) gql afaor-gqfyam

78. ﬁqf%iﬁaagmhﬁ aa)ﬁ&ﬁwmuﬁuﬁﬁm
T 29
(@ A - TR
(b) F - FOH
() AT - 4rEE 5%%
d) W& TN E

79.%@&%MW

i umﬁﬁag%mia‘m%l
2 Wm%mw&ﬁmmﬁ

A g wreft 8
I § A BT o w2 0
(a) Faw2 b) Fd 172
(c) Fad |
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ﬁ - eference to the Anti-Maoist operation that took:
\ —
-

fl.

i
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i i April 2024, which of the
3

ements is/are correct ?
stal

following

it took place in Gadchirol; district of
Maharashtra.

The operation was launched by BSF and
District Reserve Guards.

i

gelect the correct answer from the codes given below -
) Only 2 (b)

Neither 1 nor 2

(d) Both ! and?2

with reference to “PraVaHa” software developed by
[SRO, which of the following statements is/are
correct ?

1. It is a path-breaking feat by Vikram Sarabhai
Space Centre.

(=]

Initial aerodynamic design of space vehicles

requires evaluation of large number of

configurations.
Select the correct answer from the codes given below :
(@ Only2 (b)
(c) Onlyl (d)

Neither | nor 2
Both 1 and 2 !

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R).

Assertion (A) : In April 2024, India delivered the
BrahMos Supersonic Cruise Missile to Philippines.

Reason (R) The Missile has a range of

490 kilometres.

Select the correct answer from the codes given below :

(2) Both (A) and (R) are true, but (R) is nof the
correct explanation of (A). %l%%

®) (A) s false, but (R) is true.

) Both (A) and (R) are true and (R) is the correct
¢xplanation of (A).

(A) is true, but (R) is false.

80.

d}gf Fa | (d)

81.

82.

| STUDY247.1N

D.STF-1-23

3 2024 # 7 iz Ring s & T

et § @ @A s Ed e 2

I 7 W % mgradie et § g AT |

2. uw sivwE BSF (e, @ fefgde ford
S g e A

ﬁ%ﬁqmﬁﬁﬁa‘é’raﬁtgﬁﬂz

(a) a2 (b) AMITE2

| 3 2 @1

a0 g Fref “PraVaHa” HWead@l ¥ w= |

freferfias § & SF-a78 wu7 qd 3/ ?

I e faw wpwd siafen F o sl Suwfed
2l

2. ofafe ATl & e argmfast fese o fae
< gt i famma & Aeatsa ATITgHAT Bt
gl

i fae e e § @ @ IR
(a) Faed2 (b)y AA 172
(c) Fad 1 (d) 132 A

9 3 o e T ¥, R & T 3 TR (A) AT
TE T FH (R) FET TR |
atﬁ:a;m(A);aﬁazomﬁmﬁﬁwﬁtﬁaaﬁm
oIt % frense w6 |

&HWOT (R) : foramser Y anes armar 490 fraiec

(@) (A) T (R) 31 & &, fhg (R), (A) Y Tt
T T FE@T |
OO
®) QR R w R 252

(€) (A) T (R) AT WA ¥ R (R), (A) ¥t =&t
ATEAT a2 |

(A) TR, T (R) Terar 2|
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with reference 10 “*Nepal — India International | g7,  «yqrer - wwa 3 depd_wred — 2024 =
okrit Conclave —2024"", which of the followin T & Freferiaa 3 A FuA wE 2R ?
s:crnents is/are correct ? . q LER -
Sl 1t was held at New Delhi. L W i st w- yfaegE g
This three-day conclave was organised by the 2 ur d-feadm wuieE Aifa sgEaH
Niti Anusandhan Pratisthan, syrafeTa fema T 1 | i
gelect the correct answer from the codes given below - fier faw e e =R FAREL gﬁ‘q : ?g}%’-i
@ Only 2 (b) Neither 1 nor 2 W Faw2 (b)y AT 1AE2
© Only 1 (d) Both 1 and?2 M 3 i @ 1 T 2 Al
with reference to  “‘Lunar Polar Exploration @\ m‘m) F wed ¥
Mission”” (LUPEX), which of the followin&_/ raffgs i @ F-ayd FuF qe1 /8 ?
statements is/are correct ? )
: : o ¥ e g 9= e % T
|. This is an India - Japan partnership for their }O iy %ﬁ . é |
joint moon mission which shall be launched in AIRET 8, S s | i e
the future. 2. JAXA fe ¥ forg S fasfma wW &% foag
7. JAXA is responsible for developing the lander fimireme 2, @ ISRO TaT 3T T e al
for the mission, while ISRO is handling the WA @R |
rover and launch vehicle, A oo e 8 & v s aR
Select the correct answer from the codes given below : @ 3 Z (b\; Fa 1 FE 2
(a) Only2 (b) Neither | nor 2~ i .
Fad d) 1323
() Onlyl (d) Bothland2. S @
- o Pl for Stiaiasden oo “ymiifier 48 I9eH & fag faen-fder (GECP) & =i
ith reference to ‘‘Guidelines for Elimination o - - !
-_"——‘—-_.———______ ﬁq’%‘m i W
Corporal Punishment’> (GECP), which of the R TRIR-A w2
following statements is/are correct ? 1. 26 313, 2024 F ﬁﬁ{?ﬁ@ et feret fowmr 3
. The Tamil Nadu School Education Department feem-fdw sl forw
issued these guidelines on 26 April, 2024. 2. ey o=t % wrlifs oftt amafus @
2. These guidelines are focussed on safeguarding ﬁww%ﬁﬁﬁl
the physical and mental well-being of students. 2 o me e § 4 vt I ‘_3'&? .
Select the correct answer from the codes given below : (@) aﬁﬁz b) AR 1TE2
(@) Only2 (b) Neither 1 nor 2 : : i 2
c) Hae
() Only1 @ Bohland2 EYE ( @ 13r2
(Ob
: 90. “THTHIE O (FLYII) ¥ &= ¥ frafafiag & &
With reference to ‘“FLY91”” which of the following
FH-A/R FUA £ 0
Statements is/are correct ? Hﬁ had
L. Itis a newly launched airline in India. L % TG 9 1 7 e 2
2 It inaugural flight took off from Manohar 2. 5":.'5‘“ ®A ITE 18 A, 2024 TR
International Airport on 18 March, 2024. ST &g A7gI | T
Select the correct answer from the codes given below : Hra few o e 8 @ wdt I I
(a) Only 2 (b) Neither 1 nor 2 (a) HaA2 b AML19H2
(c) Only | (dy Bothland2 ° () Had 1 (d) 1 3f2 At
-------------------------------------------------- P e
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93.

94.

MYUPSC. I N |

Match List-I with List-Il and choose the correct
answer using the codes given below the lists -

List-1 List-11
(Yojana Name) (Date of Launch)
A. Pradhan Mantri Awas 1. May, 2016

Yojana — Gramin

B. Jal Jeevan Mission 2. October, 2014

C. Swachh Bharat 3. August, 2019
Mission — Gramin

D. Pradhan Mantri 4. November, 2016
Ujjwala Yojana

Codes :

A B C D

@ 2 3 1 4

by 4 3 2 1

() 1 2 3 4 El%%

@ 3 4 1 2 =

Which indicators are used in Human Development
Index (HDI) ?

l. Income level

2. Education

3. Condition of environment

4. Life expectancy

Select the correct answer from the codes given below :
(a) OnlyI,2and3 (b) Only1and4

(¢} Onlyl,2and4 (d) Only1and2

Arrange the following schemes launched by the

Government of India in chronological order and

choose the correct answer from the codes given

below :

1. Swachh Bharat Mission

2. Pradhan Mantri Kaushal Vikas Yojana

3. Pradhan Mantri Garib Kalyan Yajana

4. Pradhan Mantri Mahila Shakt1 Kendra Scheme

Codes :

(a) 2,1,4,
3

3 (b) 4,2,1,3
() 1,2,3,4

d 3,1,2,4

Malthus argued that the population grows in a
progression, while agricultural production/food
supply growsina____ progression.

From the following options,
answer to fill in the blanks :

(a) Linear, Exponential
(b) Exponential, Linear
(¢) Arithmetic, Geometric
Geometric, Arithmetic

choose the correct

92,

93.

94.

Y

STUDY247. I N
D.STF-1_23
1. el T SfUl & e A o et oy g
-1 Tl
(FrsT1 91) (TR fify,
A, T SITEE deET - AT 1L §E 2016
B. e Sftad fireH - S 20,
C. w@=g W faee — Ao 3. I, 2019
D. YuEHH IsedT JIeHT 4. AT, 206
&<
A B C D
(@ 2 3 1 4
Jyf 4 3 2 1
(c) 1 7 3 4
@ 3 4 | 2

HHa fae geei (EEaR) § 6 deat g
g fofam ST 2 2

1. ;:;TW %g%
>’b qgtawr Y feufa
4. wwifed SftaT srafy ar amg
St o e g 2 g
(a)>4a?1,23ﬁt3 (b) Faer | 34
(c) Fa1,23R4 (d) Faer13iR2

I TR g0 Yoy i ¢ fafeiRad Ay 5
_FTeTTR | et fife sit = g o g § @ wd
gfu .

2

=3 v fyee
TUHEHT e fasr greEr
TUTHT TS Seror Ay
SR afee wifts ¥ g

9ﬁ:‘“f‘”.’"!"§

—

a) 2,1,4,3 (b) 4,2,1,3
w 1’2’3’4 (d) 33 172)4

Hreud 3 aeh fear o segE _ yfadsedty
Sl FW SOEE oyt wfy A
Ffafaa et & 9, b Tt it ofd & fore @&
I AT :

(a) g, umairr
WY T, g

(c) mﬁﬁﬁqwrfﬁm
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755 ding to the Economic §
: ording 2 mic Sury
(A olicy response did The Griaszz— 23, what
fiscd (pkmo h ¢ Government of India
derta ‘ € agpravated al s
e t'ons_? global supply
" Decreasing food and fertiliser subsidies -
2, Increasing taxes on fuel and imported products
~ Reducing taxes on fuel and certain j
3 productS ain 1mported
gelect the correct answer from the codes given below :
(a) Only 3 (b) Only 1
© Only 2 (d) None of the above
Match List-I with List-II' and choose the
9. answer using the codes given below the lists : comedt
List-1 . List-11
(Social Security (Beneficiary's
Programme) - Contribution)
A. Pradhan Mantri Shram 1. Beneficiary’s
Yogi Maan-Dhan Yojana choice .
B. Pradhan Mantri Jeevan 2. ¥55-%200
Jyoti Bima Yojana per month
C. Pradhan Mantri Suraksha 3. 436 per year
Bima Yojana
D. Atal Pension Yojana 4. T 20 per year
Codes :
A B C D
B4
@ 2 3 4 -1 Eﬁ&i
® 2 4 1 3
©@ 1 2 3 4
(d 3 2 1 4
. Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : Development is being defined as
improving living standards and welfare.

Reason (R) : Growth in per capita income is not a
sufficient measure of development.

Select the correct answer from the codes given
below :

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(A) is true, but (R) is false.

B Which measures are essential to achieve Goal 4 of

the Sustainable Development Targets, 20307
I. Making education free and compulsory

& Improving basic school infrastructure and
embracing digital transformation

3. Expansion of agricultural programmes

4,

Increasing investment in technology
Select the correct answer from the codes given below :
@ land2 (b) 1,2.3and4

B

N | STUDY247. I N
D.STF-1-23
95. _anffe maem, 2022 23 & g afue
T Tt 2. 4h T

L. @mﬁzmmamm

2. 3 st ayranfaa Ieaet A T
3 émaﬁrgﬁ;mﬁ‘a‘dmmwmm
f= 0 g adl 30 :
G b NP
0) a2 (d) ST A & e A

96. @-lﬁﬁ-llﬁgﬁ%ﬂﬁmﬁ@%ﬁm

U oz 1 T He I A
qeft-1 qei-11
@I G FTa) (feanferrty/emell #1
g1TeE)
A qumEE g A AR |, et
BIEC FEBTIEN
B. Ut Sftew saa s 2. T55-7200
i gfa @18
C. e gea s 3. T436 Wi ad
RIS
D. 37 W AT 4. r20wfaad
q\z:
A B C D ByE
@ 2 3 4 1 @’&E
® 2 4 1 3
o) 1 2 3 4
@@ 3 2 1 4
97. 1 21 A e e ¥ o @ we &t Ay (A) T
ZEL I FT (R) FETEATR |
st (A) : @ = 3R F H S
%mﬁq&wﬁa%mmgn
W%I(R):maarﬁﬁamﬁagﬁgﬁmmeﬁmm
Fr feg T e § A wE s
(a) (A) @¥T (R) 3FT @&t & 3R (R), (A) H =&
T HT L |
(b) (AT R, TR (R) WET R
‘)4 (A) @1 (R) T 7§, fFg (R), (A) 1w
e T w2 |
(d) (A) @R E FFg R)?
98. Tad faeE @&d, 2030 W8T 4 ) 9w FH % forg

-G/ 3T AR T

L Fren =1 F:x7esk 3t tfamd s

2 T & e el § g i et afed
T AT

3. Y HEHA # faer

4. henfrh e A afg

e fa e e # & Wt I e

/f 1 32 (b) 1,2, 334

() Fad | d) 1,233
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100.

101.

102.

103.
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3
Which of.lhc follo?vinlg freedoms i§ not guaranteed |99, 3 l‘).,a; 4 . qﬁaﬁﬂ‘é%" - !
by the Indian Constitution under Article 19 ? T dfae g e / ‘ ,
* Freedom to assemble ‘peacefully and without - ' T farT YT o A aﬁ.ﬁw
arms : arqfy v, @itey 3N e ) S
(b) Freedom to own, acquire and dispose of ﬂ e fre Y T
: () Qaw A FeITET P .
propefty SATYIT 3T AT 1 FA F G
(¢)  Freedom to move freely.throughout the country (d) forely ]
(d) Freedom to practise any trade or profession 100, 41 3 Fe few o 3, o @ & & AHUT (A) 7y
Given below are twe statements, one is labelled as E—H}ﬁw(k)wm%l
Assertion (A) and the other as Reason (R). M A) : WA dfaua & N, & =af
Assertion (A) : According to the Constitution of (ﬁa‘ma@mw%mgw
India, the same person cannot function as the @Eﬁmﬁ I
Governor of two or more States at the same time. mﬂl dLl :
Reason (R) : Article 153 of the Indian Constitution FA (R) : WA wiferam & 1 _5_33 q 7
states that there shall be a Governor for each State. T E WW%W@ ST I
Select the correct answer from the codes given ﬁﬁqm@ﬁﬁqﬁﬁ%@% &) F
below : (a) (A) @1 (R) ’ (R), (A)
(a) Both (A) and (R) are true, but (R) is nor the . A A FAT |
correct explanation of (A). ‘y/ (A) TieTd 2 faq (R) TET 2|
" . = 2 2D o .
(b) (A)is false, but (R) is true. , ) (A) T (R) 1 @ & 3R (R), (A) #Ft =
(c) Both (A) and (R) are true and (R) is the correct AT FETR | @%?
explanation of (A). PO
(d) (A)is true, but (R) is false. @ (A)Fe Frg®R) e L
Which one of the following pairs is not correctly [ 101. ﬁﬁ%ﬁﬁﬁﬁﬂ?—ﬁiﬁ’gﬂmﬂﬁm%?' '
matched ? - (@) fafrwwmaw - it w@ AmiE e E
(a) Equality before — Guaranteed to both quTaT fugffiafime
Law S (b) ST > e S F A F
non-citizens £ TFTQ fafa %
(b) Equality of — Guaranteed only to : J R =
opportunity in public  Indian citizens (¢ FHwTsaH - wuedHiake
employment CATYAT AT
(c) Creating a new State — Power of Parliament (¢r FRTsEFIam - v Rum-vea 1 vkt
(d) Altering the name of — Power of a State \-}y ==
a State Legislature wifera Hf Fﬂ%ﬂﬁ
Match List-I and List-Il and choose the correct 102, @a-;{?rﬁu ﬁg\%ﬁ :ﬁ .\ﬁt FAe e
answer from the codes given below the lists : Rk C LY ’
List-I } List-IT eft-1 w11
A. Consolidated Fund of India. 1. Article 266 A vmadrEE i ——>1 = 266
B. Finance Commission 2. Aticle 360 B. faw smam 2. FTEE 360
C. Financial Emergency | 3. Article 280 c. foddt s . IR 280
D. Comptroller and Auditor. ; | 4, Article 148 D. A & fuFswa i 3!;@?148
General of India HeTerET Tierh —’/’ ®
Codes : ‘ HT :
A B C D - A B C D
@ 3 1 2 4 2 @ 3 | 2 4
b *4 1 3 2 B & 4 1 3 9
© 1 3 2 4
@ 1 2 3 4 T 12
Which of the following are envisaged by the Right : ]
against Exploitation in the Constitution of India ? 103. MRdlY Hi\aﬂiﬂlﬁ‘ v % foeg afiwr ¥ sl
1. Abolition of untouchability TAforEd 7 § e T TS R 7
2. Prohibition of human trafficking and forced ?49 ITEGYIAT T 3T
labour 2. WA 38 SN 3 ST 49 Ry
3. ?rothit_)itiorr)ld ([)Ifin:;nployment of children in 3. mﬁfaﬂ(@ﬁﬁﬁﬁﬁmﬁmﬁﬁv
actories a T . B
4.  Protection of interests of minorities. gﬁt ; < feefi < ggeam
Select the correct answer from the codes given below : ﬁ"{’m@ﬁﬁ“ﬁm :
a) 2and3 (b) 3and4 W/zaﬁ(?’ (b) 3304
(a)
(©) land2 () landd | Q@ 13k2 @ rdws
"""""""""""""""""" * 26 L ]



-

MYUPSC. | N

Which one of the following £roups have

LT G  , VS M ba A7 D 25 S EEET

STUDY247. I N

D.STF-1-23

e Y s ? only input| 104, Frrferfiad Wl 4 @ foped g d ST (FIe
a) Mouse, Keyboard, Printer feamge) & 2
) Mouse, Keyboard, Projecto, E&% (a) wr3g, N-arE, fiex E4E
(¢) Mouse, Keyboard, Monitgr =5 (b) I3, F-aTE, TeFT é'gﬂ
(@) Mouse, Keyboard, Scam%y (¢) W, H-are, wiHiet
ontent of computer . &
5. The con memory which (d) =3y, H-AE,

™ pon-volatile, even when the power goes offis: | 105, vz e 3 7 e w8 S fag sgfd e
(® REM (b) RAM B T o sttt T 2 2
©) ' RO!\fAth . . (d? None of the above (a) REM (b) RAM )

106 Which oF hrenho‘llogmg 1s a gonegt relationship (c) ROM (d) :W\ﬁaaﬁﬁﬁaﬁﬁ &t
between Fahrenheit ("F) and Celsius ( C) degrees 7 ' o Hfegaw (°C

grees 71106, frmfafiga § & #-a1 witreTse (°F) a1 ey
@ °C=3°F+32 () °C=°F_273.15 ety 3 ofrer et vy quitaT # 2
. (a) °C=%°F+32 (b) °C=°F-27315
(© °F=5°C+32 (4 °F=°C_273.5 3 o
| | © °F=2°C+32 (4 °F=°C-273-15
107. Whl?,b of the following statements 1S not 5
Eﬂ;ﬂ  hromoso 107. Frafafaa 3§ & w9 Fum wdT@i 2 0
a mes are : :
Protein. “rnpesel of DNA il (2)  SPIITES SE Y, o S A E R .
(b) Nucleus qf a cell does not play a role in cellljular ®) IR 1 I i
reproduction. ~ IESIE NSRS
(c) Chromosomes  contain  information  for () ﬁmm%m@mﬁar@%% \
d %“ffﬁiﬁifsegm t of DNA is called “ i@nﬁ. gy %ﬂﬁméaﬁsﬁ:mm% |
ent o is called genes. :

108. Given below are two statements, one is labelled as 108 jﬂi?ﬁ fegm g, Lkl e 0
Assertion (A) and the other as Reason (R). = (R) FETE . ’
Assertion (A) : CO,, SO, and NO, gases get AR (4) : CO,, SO, 3R NO, i anf 5 & wat
dissolved in rain water and produce acid rain. STt & 3 sreft aut s wel ¥
Reason (R) : Atmospheric air is polluted due to high HT (R) : FeH STEATFEISS, TEH SRR 3
concentration of gases like carbon dioxide, sulphur TEINE F TS S iy 3= HigAr & ST
fisat ) : A
Slt;mtl?hand oxides of nm;)gen.h ) RIRMERIEE IR Wﬁﬁﬁ?ﬁ g

clect the correct answer from the codes given below : Rumuse § g S -
() Both (A) and (R) are true and (R) is the correct ;IQ 3}({ H%;I;HI 2w
extlrmtion GE () (amzé_m (R)% " E 3R (R), (A) B wh
(b) (A)is false, but (R) is true. " ® T s £ l
(¢} Both (A) and (R) are true, but (R) is not the ) AT 2 o_(R)Ea%|
correct explanation of (A). (© (A) 3 (R) I T E ﬁFﬂ (R), (A) & &=
(d) (A)is true, but (R) is false. T Feff et 2 |

8. with reference to the 7 India - Indonesia Joint ")(\(d)‘ (A)“_E‘p[a 5133?[ _(R)' Ta R |
Defence Cooperation Committee meeting, which { 109. [ 7= MR — TSI T Ta wa ol 3 Yo ¥
the following statements is/are correct ? L wi fefafaa i g FHAA o aft 2 9

In this meeting Indonesia agreed to enhance . 39 9% o 0 3 T, e, wd H.l‘an k114
collaboration in the areas of defence, industry, R PR U ; AL
” ! _ : g & ¥ wedm wge W wRnhy
maritime security and multilateral cooperation. T | .
2. This meeting was held at Jakarta on 2. TR w T 3
May 5, 2024, ' ) ST # SRR |
Select the correct answer from the codes given below : :ﬂ%ﬁqnq‘cﬁ{ LR I ?ﬁm ]
(a) Only 2 (b) Neither I nor 2 (a) Faw2 (b) IA1Td2
=) Onyr (d) Bothland2 . ‘éL{i ----- @ _F@ @) 1o
¢
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With reference to “FWD 200B”,
following statements is/are correct ?

which of the

1. This is India’s first indigenous bomber “‘UAV"’
aircrafl.

2. lts payload capacity is 100 kgs.

Select the correct answer from the codes given below :
(a) Only2 (b) Neither | nor 2

(c) Only1 (d) Bothland2

With reference to “India — Australia EconomiL(
Co-operation and Trade' Agreement (Ind — Aus
ECTA),” which of the following statements is/are
correct ?

I This is a first-of-its-kind initiative of FTAs.

2. The meeting was attended by the Commerce
Secretary of India, Shri Sunil Barthwal.

Select the correct answer using the codes given below :

(a) Only2 (b) Neither 1 nor 2

(c) Onlyl (d) Bothland2

Match List-I with List-Il and choose the correct
answer using the codes given below the lists :

List-I List-I1
(Joint Exercise) (Dates)

A. India — Uzbekistan Joint 1. February
Military Exercise, 19 -27,
“DUSTLIK” ; 2024

B. India - France Joint Military 2. May 13 - 26,
Exercise, “SHAKTI” 2024

C. Harbour phase of Indo —~US 3. April
Joint Exercise, Tiger 15 - 28,
Triumph, 2024 2024

D. MILAN, 2024 4. March

18 — 25,2024
Codes :
A B C D
(a 3 4 1 2 g’%%
(b) 3 2 4 1
(c) 4 2 1 3
d 2 3 1 .. 4

With reference to “Shaksgam Valley”, which of the

following statements is/are correct ?

1.  This valley is a strategic key region, that is part
of Pakistan-occupied Kashmir (PoK).

2. India has lodged protest against the
infrastructural development being carried out
by China in this valley.

Select the correct answer from the codes given below :

(a) Only2 (b) Neither 1 nor 2

(d) Both 1 and?2

STUDY247. I N

D.STF-1.23

110. “FWD 200B” ¥ genf § Freferfiad & @ -8V Fuy

&7
ﬁ;mwmmﬂm“UAV”ﬁmh

2. gt it g 100 fReamE R |

$2 ot e A @ gé ITIAT:
(a) W{;’ (b) FAIAE2
© ¥l (d) 1323

T et & 3

(Ind — Aus ECTA)" % &= o

a1 FYA qe 278 ?
AR

5 daw T WA ¥ arvrsg afva ot g sdar 3
wmT fora |

Fr3r few o e 8 @ A S FAC EJ&%

(@) Fae2 (b) A@1Ad2 BT

(c) Fae1 (d) 1323

wett-1 =t gEft-11 & gfer A sk g & 9 fa

I e S YT A HE IR A -
gefi-1 geft-11
(HYT ITVITH) (faferai)

A, VRE - ISR 6 qH 9 1. SEd 19 - 27,
Iy, CeRefae 2024
(DUSTLIK)

B. WA - Whi¥ G &= I, 2. 9% 13 - 26, 2024
“gifth” (SHAKTI)

C. WG —Gwh g AR AT 3. 379 15 - 28,
HYH A, TEH LAFF 2024
(Tiger Triumph), 2024 =T
BT =0T

D. fIET (MILAN), 2024 4. 9T 18 — 25,

2024

& .

A B C D

A 3 4 1 2

® 3 2 4 I

) 4 2 1 3

@ 2 3 1 4

YT U F ded ¥ fefafae § 9 S
FU TR 8/ 7
I % uift oHifds &1 ¥ Tew & 8 W

113.

TIfHETTH & Fhost dTel TR (PoK) &1 fmmr )
2. W%mwﬁaﬁwmmwégﬁmﬁ%
% oo vt fty et FTanr @)
A fow e e F & welt s e
(@) a2 (b)y FA1AE2
(¢c) ¥ (d) 13fR23AT
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g% rrange the fOl|0Wing.SC1]en105 launched —

1 overnment of India in chronological s i
choose the correct answer from (e codes given
pelow :
1. Integrated Rural Developmen; Programme
5. Swarnjayanti Gram Swarozgar Yojana
3. National Rural Employment Guarantee Ac
4. Pradhan Mantri Jan-Dhan Yojana

Codes :
@ 1.2.3.4 ®) 3,412
© 23,41 (d) 4,3,1,2
ith reference to Economyj h, whi
15 g{lowing statements is/mm tich of the

1. Indian Economy is an Underdeveloped Economy,
2. Indian Economy is a Mixed Economy.

3. J.M. Keynes is the Father of Economics,

Select the correct answer from the codes given below :
(@ Only I and 2 are correct. BiE
(b) Only 3 is correct, "%a
(¢) Only 1 is correct.

(d) Only 2 and 3 are correct.

116. Given below are two statements, one is labelled as

Assertion (A) and the other as Reason (R).
Assertion (A) : The value of nationa] currency

determined by demand and supply of foreign
currency is called flexible exchange rate.

Reason (R) : Demand and supply of the foreign

currency is being determined by the Central Bank.

Select the coﬁmw :

(a) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(b) (A)is false, but (R) is true.

(c) Both (A) and (R) are true, but (R) is not the
correct explanation of (A).

(d) (A)is true, but (R) is false.

With reference to India, consider the following

events

1. Nationalisation of Banks

2. Formation of Regional Rural Banks

3. Adoption of villages by Bank Branches

Which of the above events can be considered as steps

taken to achieve “financial inclusion in India”?

(@) Only 2 and 3 1,2 and 3

(€) Only 1 and?2 (d) Only3

With reference to “National Food Security Agt”,

Which of the following statements are correct ?

L It will cover up to 75% rural and 50% urban
Population,

- It has special focus on nutritional support to
Women and children. ‘

3. It was enforced on July 5, 2010.

1.

118,

N W S ST

Odes ;
@ 2and 3 are correct.  (b) 1 and 3 are correct.
N --.(F_) L,2and 3 are correct. (d) 1 and 2 are correct.

(a)
_________________________________ () L23M3wdg) (g

STUDY247. I N
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£ 8 Frefafaa dems #1
Hd. mwgwgmm \mimzﬁﬁmaﬁtﬁfaqm.@QHﬂ_gT

?FT(TTEN: g
i dmmwm = V’K
2. Tl SE=h O EUST gel 5
3. u@umtﬁvrﬁwmrmﬁaﬁ:ﬁws
4. wurds sy aemr 2ol
%<
\/(2) 1,2,3,4 (b) 3.4,1,2
(¢) 2,3,4,1 T o(d) 4,312 e
115, anflss wafy % aw=f &, Frafefad § @ FH-8178 4
9 g 5
ﬁégwmﬁmﬁmm%'
2. vt sreferaE v fafya sderaTa )
3. S, i e & SAF €
i fow o e # @ v s i
(a) Faa1m2ud ) E&%
(b) FIAIWER =~
(c) ad | TR
(d) FHad23mIwd e
116, 9 31 o R o ¥, o & w0 stfieE (A) @

SEU T RV (R) F&1 TR |
W(A):W@Waﬁﬂﬂﬁﬁﬁ%ﬁﬁﬂﬁ
i S Tl g ar e ¥, 3@ T et s e ¥
T (R) : Feraeft g i a3 anqfd =i & g
it et 2 \

(@ (A) @ (R) 3T @& ¥ T (R), (A) FT @wE
AT FE@AT |

®) (A)TEa R, fFg (R) TR

(©)  (A) T (R) I &t B, g (R), (A) H1 5
AT T FT R |

@) AT fFgER)TaR) .

118.

117, MRa % #=2 &, Frafafiad gegrsit w firm i

\AsSA. SR TR

2. et oo St o e

(a) a2 33 (b) 1,233
(¢) Faa a2 (d) Fa3
“ I BT & weeot & Frsforfigg §
TR FT T | =
1. g{zs%m‘maﬂtw%mﬁw@mﬁmm
|

2. & afeemed o a=si &

ik, N T T fs

3. RS IR, 2010 F w0y R may oy |

®e:

a) 23MIgHE, (b) 13 3wHE
13t 2 et &)
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119.  Given below are

) two statements, one is labelled as
Assertion (A) and

the other as Reason (R).

Assertion (A) : There is a positive relationship
between | >Nt HDI) and the
Sustainable Development Goals (SDGs) ranking of
ndian Stafcs.
Reason (R) : The underlying dimensions of SDG

largets are closely related to education and health
aspects,

Select the correct answer from the codes given below :
(a) Both (A) and (R) are true, but (R) is nor the
correct explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the correct
explanation of (A).

(A) is true, but (R) is false.

(b)
(<)

(d)

120. List-I contains the nameés lof countries, whereas
List-1I shows the Rank as 'férpitta.nccs received in the
year 2022. Match List-I with List-Il and choose the
correct answer using the codes given below the lists

List-I List-11

(Country) (Rank)
A. Mexico 1. First
B. China 2. Second
C. India 3. Third
D. Philippines 4. Fourth
Codes :

A B C D,

@ 4 1 2 3
® 2 3 1 4n
© 3 4 2 (7
@ 1 2 3 4

121. Match List-I with List—IIzrérjld choose the correct

answer using the codes given below the lists :
List-I List-II
{State) (Rank according to expenditure
on infrastructure 2019 — 23)
A. Maharashtra 1. First
B. Uttar Pradesh 2. Second
C. Tamil Nadu 3. Third
D. Karnataka 4. Fourth
Codes :
A B C D, Egg
(a) l 2 3 4. Ok
(b) 2 1 3 &N
(c) 4 | 2 3
d 2 3 1 4

Y

STUDY247. | N
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119, = @ Fua R e F, o & vk F1 0 (A) ay;
ZEL & HWT (R) F&T TR | '
v (A) : THE fE S (09831
gaq faemw sl (rg @ sft) WA T ey
) ata o 2| _
HROT (R) : W4 forpre @di & AU 1w 3
fiver ud waTeed & GfTEaT & @1y ey 2 |
3 forw o e 3 @ W) 3R
@ (A) 1 (R) 31 & 8, g (R), (A) H =g
‘/ZL STEaT g FATE | )
(b) (A)TeE?, g (R) EET R
(c) (A) T (R) a1 wel & 3 (R), (A) 1 7@
ST HTT € |
d) (AT fRgR) A

120. get-1 & A & Am E, e e A ad 2020
wﬁﬁmﬁaﬁ@aﬁw@m)%mw
T 2 | gl -1 @ gafaa e o gt 5

Fer e 1T sz b g S ST g
-1 w=-11
@) ke
A. afega L
B. 2. fed
C. wid 3. qdE
D. foefidig 4. =qd
&
A B C D
(a) 4 1 23
23 1 4
¢ 3 4 2 1 EpE
@ 1 2 3 4 é’gﬂ
121, g1 gt @ gt hife o afed % A R
T FHZ KT IINT e IR A -
w1 g
(TsY) (2019 - 23 % R ITIRYT G
R T @ & 7GR A5 )
A. TERTE 1. wuw
B. Smwew 2. fydw
C. daerrg 3. e
D. #ies 4. wqd
®<
A B C D
\ﬂ 1 2 3 4
(b) 2 1 3 4
(c) 4 1 2 3
d 2 3 1 4
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g,

- pelow are two statements, one is labelled as
G ion (A) and the other as Reason (R),

sertt :
Azserﬂ"" (A) Article 352 of the Indian

Col’lshmtion deals with the declaration of an
ency-

;T::in (R) : An emergency may take place at any

{ime.

gelect the correct answer from the codes given below :
Both (A) and (R) are true, but (R) is ner the

correct explanation of (A).

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the correct

explanation of (A).

(A) is true, but (R) is false.

which of the following statements are correct
regarding ICT based e-Governance ?

|. e-Govermance reduces the transparency of
Government.

e-Governance reduces the cost of Government.
e-Governance increases
Government.
e-Governance
red tapism.
Select the correct answer from the codes given below :
(a) 2and4 (b) 2and3

() 1,2and3 (d) 2,3and4

The UPSC derives its functions from which of the
following sources ?

1. The Constitution

2. Parliamentary Laws E&%

3. Executive Rules and Orders ®d

4. Conventions

Select the correct answer from the codes given below :
(@ land?2 (b) land3

{c) Only I (d) 1,2,3and4

2

3 citizens input into

4, increases

bureaucratic

- Which one of the following is correctly matched ?

Constitutional
Article

165

148

Constitutional Body

(a)
()

Election Commission
National Commission
for Scheduled Castes
Finance Commission
National Commission
for Backward Classes
ldentify the correct chronological sequence of the
following :

I Shankari Prasad vs. Union of India

Sajjan Singh vs. State of Rajasthan

Golaknath vs. State of Punjab

Kesavananda Bharati vs. State of Kerala

Select the correct answer from the codes given below :
@ 1,43 7 (b) 3.2,1,4

(©)
(d)

263
340

3.

MYUPSC. | N

124,

125.

126.

122,

123.
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Aot &t e fa g ¥, o & oo bt safirRe (A) T
ZAL FT FH (R) FE1 TR |

aftem (A) : Wil d@fue @ STEOS 352
ATt feurfa i Sion § gefid 2 |

BT (R) : AT Rerfa ot oft @wa e &
qFAIR |

A=t faw o e # & et I AT
(A) T (R) 2T @dl 3, fy (R), (A) 1 Wl
AT TE AR | "

(b) (A)TeT &, ffg (R) EEI 2|

(©) (A) @ (Ri)%n:?r:ﬁ a@ § 3 (R), (A) FT T
T HT & |

(d) (A)@E 2, g (R)TAGR

H@.Fﬁﬁ.&ﬂﬁaémﬁa%%ﬂﬁﬁrﬂ%ﬁﬁﬁﬁ
HH-T FHYF A € 2 :

| drate e A et @ e

2. ErE Y WER I AnaFH A Al T

3. $TEE & GrhR § ARG 1 ATEH o ST R |
4, Soatg AEEE Y A FrATe F G i 8 |
e faq e e # & w1 I

(a) 2:#11426 2313

(c) fira 50 (d) 2,334

T G T e # Gefafad § @ R dafe

gidi & srl-vifveat e 2 873 2

I, dfgam

HHSE H
FrEE fam 3 s

4.  guEId

ﬁﬁqwagaﬁﬁuﬁwgﬁq:

(a) 132 (b) 133

(c) Fad | (dy 1,2,334g -

ﬁﬂﬁ%ﬁﬁﬁﬁ?—m@wgﬁa%?
wifeufas e wifareafes

AT

~

165
148

EiE

va,

2
3.

(a)
(b)

g S s s -
(c) fa=r amam | 263

) U et st s 340

Frfefiaa % et wremgsr i geam it -

Wl TETE F91H WA 5y
s fig 9w g TS

TH Y s

4. FYEHE AT S IS Toy
ﬂéﬁ*{ﬂ'@g&ﬁ‘ﬁaﬁmiﬁq;
(a) 1,4,3,2 (b) 3,2,
) 1,2,3.4

1.
2;
3.
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128.

129.

130.
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Match  the Amendments with their year of
implementation :
A. 42" Amendment 1. 1985
B. 52" Amendment 2. 2011
C. 8™ Amendment 3. 1976
D. 96" Amendment 4. 2002
Select the correct answér from the codes given below :
A B C D
(ay 2 1 30V 4
® 4 3 207,
© 1 2 374
d 3 | 4 2

Match List-1 with List-Il and choose the correct(
answer using the codes given below the lists :

: . o
List-T List-11 lil’glﬂ

A. Cooperative Federalism 1. K.C. Wheare
B. Bargaining Federalism 2. [vor Jennings
C. Quasi Federalism 3. Morris-Jones
D. Federalism with ~ 4. Cranville Austin

Centralising Tendengy
Codes : L0

A B C..D

@@ 2 43 _g]
by 2 1 43
© 4 3 1
d 3 2 4

Which one of the following is not a level in the
three-tier Panchayati Raj recommended by Balwant
Rai Mehta Committee ?

(a)
(b)
()
(d)

According to the Lok’é‘é:l and Lokayuktas Act, 2013

the Lokpal would be appointed by the President after

obtaining the recoﬁ::éipndations of a Selection

Committee, with the Prime Minister as chairperson

and consisting, among others, of the following :

1. Chief Justice of India or a Supreme Court Judge
nominated by him

Panchayat Samiti
Gram Panchayat
Zilla Panchayat -
Nyaya Panchayat 1
]

2. Chairman of the Rajya Sabha
3. Speaker of the Lok Sabha
4.  Leader of Opposition in the Lok Sabha

Select the correct answer from the codes given below :
(a) 1,2and3 (b) 2,3and4

D.STF-1.95

127. WY F1 ITF FEEEE & av @ e fifw

A, 42af @emed 1985

B. s2ai@wyA 2011

C. 86al wuue 3. 1976

D. 96ai guiud 4. 2002

2 e e e & el g

cC D
4
I
4

STUDY247. I N

(a)
(b)
(¢}
( 3 4 2

148 -1 1 et-1n & gifera Fifirg o gt & 9 fio
T 2 T TN T FE I AT :

-1

A. HEEHHl HEaTe
B. HRawS THER

C. s guar
A b

A B
2 1 3
4 3 2
1 2 3
1

afn
1. *H. ;|
2. g
3. Wi
D. FHewr Y 4. Mfaa difees
AT §HdTE
& ;
(a)
(b)
(c)
@@ 3 2 1
129. e T A wfif g0 srpif B wt demrf T
L ! TR
(a)
(b)
(<)

PSS-S
W — o

C D
3 1
4 3
1 2
4

e afifa

PR SID G

IEGIREIEn

= =

130. W R deEe afufm, 2013 % 3TER,
S A Pl Teui g vw g affy
fareiel sy 7t % e A smoh, R st wum
W ' qen T s ot % sremEn, e
e B
L @ & 7 = @ = g i

3T AT 1 1S =Arameiyr

}b T BT & BT

L.

YR /T e
. A a v
iﬁ%ﬁﬁmap;eﬁwémgﬁm
(@ 1,23k3 (b) 2,334

%
Oh

(¢) 1,2,3and4 (d) 1,3and4
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nsider the following statements with reference 1o 131. Fiw diwfae o] & g ¥ fr=fafad FIA T
CongTeSS Socialist Party : .
the The Congress Socialist Party was formed 3 - arf @1 e
4. in | SHaft 1934 8 Hg Gfoee
january 193 S5
jawaharlal Nehru formally joined this party due ¥ F0T w=q 4
10 his sympathy for socialism. 2. 99NErE @mﬁ @?ﬂ-
which of the above statements is/are correct 7 f P .- i adr 237
Both 1 and 2 (b) Neither | nor 2 s 5
@ @ 1swodE () AdIAA2
© Only 1 (d) Only2
_ (cy ad | (d) ahael 2
sider the following events and arrange them i . . .
o Jogical order : ge femin ya, W@HWWWWW%WE‘
chrono ogica :
|, Murder of Abul Fazl % srafea hifsre .
». Death of Sheikh Mubarak [ I, A oA &l
3. Death of Faizi 2. @ HEE R Y
4. Death of Daniyal _ 3. ﬁﬁﬁ‘cﬁ?
gelect the correct answer from the codes given below : jﬁ% ﬁ:q:i TATE] ﬁ'gﬁ e
; L T4 a‘ﬁ T:
W 2 ;Ti ?;; ;i;? R ) 3,2,1,4
i, R T ©) 2,314 d) 2,431
Consider the following events and arrange them in _ i :
chronological order : 8 133. Frefefad gearsit ov famm Hife aur 3= FTcTgsh i
1. Linlithgow August Offer et $if e - _ @_3
2. Cripps Mission arrival in India i feaferer #hr s ST - AU 2
3.  Ramgarh Congress Session 2. Eas iimj:l T AT ATTHA \ b* &
4. Resignation letters of Congress Ministers 3. “LMG a.”a{‘“ 3;5-1%3!:! —_ 5 i
Select the correct answer from the codes given below : 4 Tt 'I T — S
() 3,1,4,2 ® 4,3.1,2 A1 feg e e & W 3 Y
() 1,3,4,2 (d 4,2,3,1 (@ 3,1,4,2 43, 1,2
() 1,3,4,2 4,2,3,1
Match List-I with List-Il and choose the correct .
answer using the codes given below the lists : 134, I 1 g-11 & gafea Hf ait gt % 9 feu
List-I List-11 T 2 T AT FHE I
(Book) (Writer) -1 aef-I1
A. Hindu Polity 1. D.D. Kosambi W) (EGH)
B. The Wonder That Was 2. A.L. Basham A %E;W%!ﬁ . 1. e s
India B. stz s SR 2. wUA 9N9H
C. An Introduction to the 3. K.P.Jayaswal C Qqsﬁamr{a%zﬁ 3. &4 SmEae
Study of Indian History T 3fea fet
D. The Early History of 4. Vincent Arthur D. Tuehi e siwsfem 4. fordie smeie Ry
India Smith
Codes : he R .
C D
D
( . & 2 (@ 3 2 4 1 oHo)
9 3 2 4 1 =
(b) (b) 1 2 4 3
( 1 2 4 3 © 3 5 1 3
3 2z 1 4 @ 1 2 3 4
L OB 8B et e s e
""""""""""""""""" * 33 *
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135.  Given below are two statements, one is labelled as | 135. A @ e fae e &, ford ﬁuﬁﬁﬂﬁ (A) Ty
Assertion (A) and the other as Reason (R). H‘Sﬂﬁm (R) FETTATR | .
Assertion (A) : Most of the early nationalists atfirwmaT (A) _gT(ﬁ?EF eanfedl 8 o afirmmy F
considered British rule as an act of providence fafea o vty 29 & o7 ForeeRT 3T %
destined to bring modernisation. ] =
Reason (R) They complained only against — 1 Fae y «ar-feifes gem
“Un-British rule” in India, ’ FI (R) : 3 ST AT e
Select the correct answer from the codes given below : * ul . ;
(a) Both (A) and (R) are true, but (R) is ot the A fe g e & et s g
correct explanation of (A). J)’? (A) 3T (R) 3T & &, fhd (R), (A) & w&
(b) (A) is false, but (R) is true. e T FEATR |
(¢) Both (A) and (R) are true and (R) is the correct (b) (A)TEE, fT\3‘5'_1‘!([{) g
explanation of (A). (©) (A) 3T (R) M1 get & 3 (R), (A) T &
(d) (A)is true, but (R) is false. AT HFATE |
136.  Which one of the following statements is not correct (d A) T, J(R)? ol .
about William A.J. Archbold ? 13d_fofem v smdeiee|F w7 fafafaa & @
(a) ge was the Principal of Government College, FHAAFH FUF AL TE & 7
acca. TT Fre 2 F T
(b) He was the Principal of Lahore College @ 9 it i N
Lahore. ’ (b) 3 RN FHTH, ATER & Y= o |
(€} He was the Principal of MAO College, Aligarh. (c) FTHLI. i”f's’ TAREITEAL
(d) He was the Principal of the Muir Central (d) 3R & FIH, FETETE o 1T 9 |
College, Allahabad. 137. Frfafea geareh wt fmm fifs qur 32wy @
137.  Consider the following events and arrange them in ISR — X
chronological order starting from the earljest : I dvn fase
Sarting
1. Vellore Mutiny 2. A hSUEE i 7oy g,l&%
2. Death of Nana Fadnavis 3. O ) T e e
3. Recall of Wellesley \g\/l’ﬂ- ATt 75
4. Anglo-Nepalese War = :ﬁ%ﬁqnqa&—g ﬁﬁgﬁmﬂﬁq;
Select the correct answer from the codes given below : . (4 2,314 (b) 4,1,3,2
(@ 2,3,1,4° (by 4,1,3,2 () 2,3,4,1 @ 3,1,2,4
(c) 2,3,4,1 (d 3,1,2,4
138, G-I 1 g=h-11 & gafora hifvg s git
138. Match List-I with List-II and choose the correct “H?EHETHC;J\T'IH?(H%’[ aﬁqaﬁ( {1 % A e
answer using the codes!given below the lists : T R L
List-1 " ListII Teft-1 i1
(Revolt) (Leader) (fE51R) (Agearat)
A. Paika Revolt 1. Edachena Kungan A. 9sF fage 1. EEATEH
B. Bareilly Revolt /2. Radharam B. s fase 2. TYRW
C. Ma}llabar Revolt 3. Mufti Muhammad Aiwaz C. uERfER 3. Oudt Aieee YT
D. Sylhet Revolt 4. Jagabandhu Bidyadhar & s S &
Mahapatra o 1
Codes : & :
A B C D A B C D
(a) 4 3 1 2 E&% M 4 3 1 2
(b) 3 4 1 2 G (b) 3 4 1 2
@d 2 1 3 4 @ 2 3 A
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llowing days and arr ) .
or the f0 ange them iy , . 2 i
CoﬂSldmgncal order : 139, fafafiag fabt w fa=m fife 3 3@ AT
chron© world Health Day M SgfEq hifsr o
: National Maritime Day < L fave e feam g A
world Athletics Day 2. udmagdfeam
world Red Cross Day 3. fave wuefead feam
S;]E‘:[ he correct answer from the codes given below ; 4. famEwEzswfaa —
9 4,2,3,1 A fow g e o | we I
n 2134 @) 4,231 i
g by41 (b) 2,1,3,4 égﬁl
@ 3204 © 23,41
Match List- with List-Il and choose the correct d) 3,2,1,4
the codes given below the list :
nswcrLulthng List-11 o 140. i1 ot a1 & gfer Aifore siv gft % A i
(Award) (Recipient) R FLFE I I
A Aryabhatta I. Amitabh Bachchan elt-1 -1l
Award, 2024 FEFR) | (ETTFA)
g. World Literary 2. MamtaG. Sagar A. WW: 2024 I
Prize, 2024 B. fava wifeea qrarm, 2024 . Hudr St 4R
¢. LataDeenanath 3. Dr. Subba Rao C. ST TS HATEFT i RC
Mang;shl(;z;; Pavuluri ' TR, 2024 ‘Tﬂ?\‘lﬁ
Award, 2
TieEhe TaET TEHR, 4. SATAIH e
D. Goldman 4. Alok Shukla C‘;;
Environmental
&
Prize, 2024 = 5 B
Codes :
A B C 'D 8 LI 32
@ 3 2 1 4 Ck i 3 2
o 3 ” 4 ] (c) 4 2
- d 2 3
© 4 2 1 3
@ 2 3 1 4 141. ﬁlﬁ@llﬁ@%ﬁﬁﬁqﬁruﬁﬁ%ﬁﬁq
Y 2 T FAT e I I -
Match List-I with List-II and choose the correct il I
answer using the codes given below the lists : (%ZTfﬁ'-'l ) (577)
List:] List-11 A. ﬁaﬁ:{Aq 1. J0ah
(Vitamin) (Disease) it .
A, Vitamin A 1. Beriberi B 2 2
B. Vitamin B 2. Blindness c. faafEc 3 ﬁ%@“
C. Vitamin C 3. Rickets D. faef= D Tt
D.  Vitamin D 4. Scurvy —
Codes : e " g0 & =
A B € P @ 4 3072 )
@ 4
3 2 1 2 i 8
by - et 3
1 4 3 (c) 1 9 3 4
(©) 1 2 3 4 (d) 1 ; P
4
! 3 2 - SR S S
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142. Consider the following statements with reference to

Special Officer for Linguistic Minorities :

1. In the Constitution, there is a provision for the

post of Special Officer for Linguistic Minorities

for every State.

2. A new Article 350 B was added for this by the
gth Constitution Amendment Act,

Which of the above statements is/are correct ?
(@) Only2 (b) Neither 1 nor 2
(c) Only 1 (d) Both I and 2

143. The Concurrent list
includes :
I.  Trade and Commerce
2. Adulteration of Goods
3. Succession

of the Indian Constitution

o
&

Select the correct answer from the codes given below :
(@ land3 (b): 1,2and3
(c) Only1 (d): 2and3

-

144. Fathima Beevi died recently.” Consider the following
statements regarding her :

1. She was the first woman judge of the Supreme
Court of India.

2 She served as the Governor of Kerala from

1997 — 2001,
3. She was the first Muslim woman to enter into
higher judiciary.
Select the correct answer from the codes given below :
(@) 1and?2 () land3 = -,
() Only 1 (d' [,2and3

145.  With reference ta.the ‘‘National Intellectual Property
Rights Policy’’ consider the following statements :

I. It reiterates India’s — commitment to Doha
Development Agenda and! the TRIPS agreement.

2. Department of Industrial Policy and Promotion is
the nodal agency for regulating Intellectual
Property Rights in India. .

Which of the above statements is/are correct ?

(a) Only?2 (b) Neither | nor2

(c) Onlyl (d) Both1and2

146. Which Amendment Acts deal with Local Governance
Institutions in India ?

(@)  63™ and 64™ Amendment Acts
(b) 86™ and 87" Amendment Acts
(c) 42" apg 437d Amendment Acts
(d) 73 and 74 Amendment Acts

D.STF.1.5,

142, smorh el % foy st St & wmy
frafafae wuAt w fa=m ;

I e ¥ Yo e ¥ R ey
fora ferdi arferepdy 3w a1 T foba a3,
oF dfr Wi SifufET T T foy o
T AT 350 B ST AT |

Iudeh 8 & -1/ Y wE e/e 2

(a)" ¥ 2 :f?ﬁl:ra‘fg

(c) ¥ (d) 13f2EH

143. mm@"”ﬁﬂ%@f
. 49N g vy
2. gt # firemae
3. IR
e few g e 7 @ wEt I g
(a) 133 (b) 1,233
() &l (d 233

14m‘a“rﬁﬁw§an|mésaﬁﬁ

frafafaa wuat w fam i

|. 9 YT & HaT=d =TT $H ggelt ufear =y
ot |
IR 1997 — 2001 T e TST % ToAUTH F ®T 4
Tand ot & |

3. 8 IET ARAHT doh Ug ATl weell wlem
Hfga ot |

i faw o e & & wE s w

/m 132 U/({)Y 1 313

(c) ¥ | (& 1,233

STUDY247. I N

2.

145, s wwmm R #fr) F o=t @
frfeRaa Fual W fa=m i -
1. T ren fawm weinen ok o wmeita % wfy v
1 yfdargar &1 Srewar 2 |
2. ofenfi Aife sin dady fyvm, ymg § s
T Al F A S ¥ o S
AT R |
ST § | BH-HU/ T w2 0 EpE
(@) Faa2 (b) IA172 @’%a
(c) Fadl A 1 3T 2 31
146. aﬂmwévﬁmaﬁxﬁaqmﬁwnﬁaw@aﬁ@
Hefera g 2
(a)  63aT 3N 645 e Afrfem
(b) 86T 3R 87t Hyie arfurfyam
(c)  42aT 3 43af G arfrfim
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; ist-1 with List-'II and choose the correct
MMC]J Ssing the codes given below the ligts :
, r
- gswe List-11
pist-1
(Aytflar) (Book)
i 1. A Comprehensive Hj
llanj! : story of
K Iéac)pﬂl India : The Delhi Sultanat
abib and 2. The Economic Life of
B. Nizami Northern India
K . Lal 3. Early Chauhan Dynasties
D' pasharatha 4. History of the Khaljis
" gharma 3
Codes ¢ 'ﬁg@
A B C D
0 ? 1 4 3
Byl 2 3 4
o 4 3 2 1

3 4 1 2
" E:onsidef the follgw'mg statements :
| Kunwar Singh, Landlord of Jagdishpur in
Bihar, led the rebellion against the British.
1. Lord Dalhousie recognised the adopted son of
Rani Lakshmi Bai as the heir apparent.
Which of the above statements is/are correct ?
(3 Only2 (b) Neither | nor 2
(©) Only 1 (d) Both1and2
o, Consider the following foreign travellers and arrange
them in ascending chronological order :
I, I-Tsing
2 Al-Biruni
3. Huentsang (Hiuen Tsang)
4. Fahyan (Fa-Hien)
Select the correct answer from the codes given below :
@ 1,2,3,4 by 4,3,1,2
© 2,1,4,3 (dy 3,4,2,1
8 Given below are two statements, one is labelled as
Assertion (A) and the other as Reason R).
Asertion (A) : Balban made his government firm
d centralised all authority in his hands.
Reaspn (R) : He wanted to protect the north-west
nler against Mongol invasions.
Select the correct answer from the codes given below :
W Both (A) and (R) are true and (R) is the correct
eXplanation of (A).
(A) is false, but (R) is true.
Both (A) and (R) are true, but (R) is mot the
) :Z"fm explanation of (A).
- A) s true, but (R) is false.

(b)
(c)

.
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147, gefi1 ) areionn @ wafera ifor sie gfeedt % A< FC
T %z 1 AT T FET I A
-1 eI

(&) .
1. o1 Hffaa feegt ot sfean

(TEF)

SESEEil

9T g faoeft gead .
et X & ST eTe 31T AT
frsredy sfean

FUE AE 3. A StEH A
Ry Emt 4. fEeh SiE g @ersts

A B C D

2 1 4 3
(b) 1 2 3 4
(c) 4 3 2 1
d) 3 4 1 2

148.  Fr=afafias o=t o faem fifso -
| frew & e 3 e, e fie X ST
foreg fersire =1 et oo
2. o TERST X oA @edt @1 F gde 9F B
Il € &1 gr=rar e i |
I0ETH H § H-A1E FULEDRE 7
(a) FaA2 (b) FAT1AE2
t&ﬁal (d) 132
149. Trerferfiaa fazeft amft o fasm R a9t 3% s
wwﬁfmﬂﬁﬁq:

2 .

1
2 HA-TEAT
3. gAwEm %&%
4
ﬁmwmﬁﬁaﬁajgﬁq
(@ 1,2,3,4 4.3.1,2
) 2,1,4,3 (d) 3,4,2,1
150. ﬂ%a‘rmﬁﬁqw%,ﬁqﬁ%qa;aﬁaﬁmn(mm
A HT FRT (R) FeT TR |
FITAT (A) : T I ¥ T 1 g ST 3k
HPqUl BT T BT F F w5 foyar |
FNOT (R) : F€ IR-UEW Har it oy o )
HUferd ST <rear 91 |
ﬁ%%qnqagaﬁﬁﬂ‘ésﬂt‘gﬁq:
‘y‘ (A) T (R) THT W&t ¥ 3t (R, (A) # g&
ST AT 2 |

(b) (AT R, frg Ry T 2

(©  (A) @ (R) a1 gt 1 (R), (A) 1 T&
ST T T |

e T



